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PREFACE

After the creation of Chhattisgarh state, the responsibility of creating new text books
for children of the state has been assigned to State Council of Educationa Research and Training.
The books have been created by keeping inview the social, cultural and geographical background
of the state.

It has al so been kept in mind that the new vision which is being made in the context of
the children at the national level can also benefit the children of the state.

These booksweretested for two yearsin various areas of the state. As per the feedback
of teachers, parents, children and academicians some changes were made.

At thetime of creation of this mathematicstext book the main thing that was put forward
wasthat |earning mathematics can bejoy for childrenif they can relate our environment toiit.
M athematics should not be confined to thetext books. The knowledge of process of addition,
subtraction, multiplication and division isnot enough. Thelearner should also be ableto apply
these processes appropriately in rea life situations. Pictorial representations have been used
in the text book so that the learners easily relate mathematical concepts and processto their
surroundings.

Thisbook addresses children with easy language. It has been kept in mind whilemaking
the entire book that all the symbols and words are familiar to children. Wherever it is very
necessary to use mathematical words, they are used with examples. To keep thelearning process
from being burdensome and boring several interesting activities have been given. By doing
these activitiesindividualy or in groups, thelearnerswill learn easily.

It has been kept in mind that the activities, examplesand figuresgivenin book arerelated
to children's experience and interest.

According to the National Curriculum Framwork-2005 the purpose of mathematicsis
not merely following the al gorithm and getting the result. Hencein thistext book, we have put
emphasis on understanding, discussion and interaction of children. There are several such
lessonsin the book inwhich children have been asked to discuss many issueswith their friends
and teachers. We aso recognize that if children use their own language to create logical
framework their concepts will be strong and clear. Here the teachers are expected to create a
rapport and let them speak openly about thoseissues. Teachersneed tolistento them and if the
children are having troubl e to reach the conclusion then hel p them. Hope thistext book will be
helpful in keeping the environment of the school entertaining and exciting.

In preparing these books the council has got continuous cooperation from teachers,
academiciansand linguist of governmental and nongovernmental sector. The council isgrateful
to al of them.

Itisour responsibility to make our future generation beautiful . We hopethat we will all
be able to do something good.

Director
State Council of Educational Research and
Training Chhattisgarh, Raipur



SUGGESTIONS FOR TEACHERS AND PARENTS I

There have been continuous efforts to make teaching-learning processes
interesting and effective. There have been effortsto understand the objects of having
different disciplines in the school syllabus and to understand and explain nature of
each subject. Yetinteachersand children areflection on clarity and good understanding
does seemto be evident. Thisis particularly true about mathematics.

If you were to pose the question, “What is mathematics?”, the answers would
range from counting objects, displaying numbers, doing number operations, lines,
making shapes and so on. A few answers might differ from the ones cited above, but
thesewould belargely the things mentioned.

Before we go ahead, let us try and understand what all happens when we are
attempting to solve a problem in mathematics. For example, “A bus travels a distance
of 35 kilometers in 1 hour. How far will it travel in 6 hours?”

Here, timeisan abstract concept. We have defined an interval asthe unit of this
abstract concept and expressed large timeintervalsin terms of these units. Similarly,
for distance, we have defined aunit, which then hel ps us quantify it.

In the next step we expl ore the rel ationshi p between these two units of timeand
distance. We have stated, “ The bus travels a distance of 35 kilometres in 1 hour”.
This defines arelationship, which we tranglate in term of an operation-for instance,
either addition or multiplication.

L et us consider another example. A kilogram of rice costs Rs. 16. How much
will 54 kilogramsof rice cost?

In thisexample, we have again defined aunit for quantity of rice, and expressed
thetotal quantity intermsof theunit. The same can be observed while solving problems
related to area, etc. It isclear from these examplesthat mathematicsisnot just limited
to counting or operations on numbers. In the same way, mathematics of shapes and
linesisabout exploring and establishing the rel ati onshi ps between them. Further, while
we include the concept of measurement for use, the sorting, classification searching
for and establishing their properties, constitute important facets of mathematics.



When a child begins learning mathematics, in order to express abstract ideas
understand operations as well as ssimple problems faced in daily life, it becomes
necessary to use concrete (real physical) objects. However, this dependence on rea
objectsprogressively decreases as mathematical skillsdevelop.

Children then begin to build arguments. Their ability to deal with abstractions
increases. They begin to abstract arguments from their daily life, and translate
abstractions into reality. They also begin to seek solutions to problems of their own
accord using various methods. This whole process helps children understand how
and where available information can be used to solve problems.

Therefore, itisimperativethat in theteaching of mathematicschildren beallowed
to have maximum opportunity to think and work independently. Thiswill only happen
if children are not provided with ready-made sol utions, and areinstead encouraged to
think ontheir own, with guidance towardstheright direction. Thismight seem strange
inthe beginning, but it isdifficult to teach mathematics without devel oping the ability
to think independently and take decisions on the basis of thisthought. The devel opment
of thisability will makethe children self-confident and reduce thefear of mathematics
that iswidely prevalent.

Theclass 1 textbook has been devel oped keeping in mind that it could be used
by teachers asaguide and for self-learning by children. We have also tried to provide
many opportunitiesfor studentsfollowing thistextbook to think and act independently.

Beginning mathematics using concrete objects and games generates interest
amongst the children. Therefore, we have a so begun the book with games. Thefirst
section devel opstheability to focus and concentrate, devel op, eye-hand coordination,
learn to sort and classify objects, and make pairs. These are through games and would
help develop the abilities for sorting, classification, understanding one to one
correspondence and comparing quantities.

It is expected that children will be given sufficient time to use as concrete
objectswhileworking onthe material sgivenin the book. We have given some examples
of the concrete objects that can be used for this purpose but you have to think of
some more. Some suggestions can also be seen from the teachers’ guide which is
being published separately. The purpose of having children engaged with activities



with concrete objects and for creation of supplementary materials for games is to
ensurethat they work with concrete objectswhilelearning new concepts. They should
work on their own, understand operations and slowly move towards greater
abstractions. In this period they should be given opportunities to use language in the
context of these concepts and operations. These occasions should be both in small
groups and in common situations along with teachers so that they can build their self
confidence. If thereisan opportunity in each chapter to do thisthen many difficulties
that arisein learning M athematics would be destroyed from the root. Children would
develop different attitudestowards mathematicsthereisaneed to posefor awhileand
think about this point.

Children love stories. One sees children completely engrossed in a story being
told to them, especidly, if it being related well. In order to understand mathematics
because of its abstraction it is useful to have it embedded in stories or contexts,
understanding and enjoying stories is a prerequisite. Keeping this in mind, some
characters have been created in the textbook. Children can be encouraged to name
these characters imaginatively and a short story could be woven around them at the
beginning of the lesson. Problems can be posed through play, activitieswith concrete
objects and stories, which would help children form their own basefor understanding
mathematics better.

No lesson or activity is complete in itself. The materials in the text are just
indicative. According to the needs of your classroom and the interest of the children,
develop and use new materials, new interesting activities and new games. We have
given some suggestions for this purpose. Wherever extra things can be thought of
symbols at the bottom of the page show what is possible according to use. Thekey to
the symbolsis given at the beginning of the book. Children could be encouraged to
interpret the symbols and complete the activitieson their own.

To summarise: -

3 Children must be given the opportunity to flip through their books, look at the
pictures given and attempt to read in an independent manner

O Every page of thetextbook containsinteresting activitiesand practice exercises.
Make more such tasks, ask children to develop them and also to solve them.



[ Children must be given sufficient time to understand and learn a new concept.
Children develop new techniques to understand concepts, and must be
encouraged in these endeavors.

3 Theobjectiveof solving problemsisto understand the underlying mathematical
concept. Solving aselect set of questions or rote learning of select solutionsis
not the correct way to teach mathemati cs. Children must, therefore, be encouraged
to solve problems as well as develop new problems.

O Mistakesareanatural process of learning whilelearning aconcept or in solving
problems. Children must not be discouraged on mistakes. Instead, they should
be encouraged to develop new methods and ways to solve problems.

O Childrenlearnfromtheir peers, and therefore, must be encouraged toindulgein
conversations and group work, and then to present the work that was done in
the group.

3 If children havedifficulty in solving aproblem guidance can be provided in the
form of pointed questionsthat help studentsthink along a certain direction.

[ Thematerialsmentioned in the book areindicative. Please devel op and use new
materials, innovative games, exercises, and activities depending on the needs,
Interest and background of the children. The use of symbolsinthebook indicates
the areas where thisis possible. Children should be encouraged to understand
the symbol s independently and work according to the instructions given.

This book is an attempt to dialogue with the teachers/parents and children. All
suggestions to improve the book are invaluable and you must please send theseto
the SCERT.

Director
State Council of Educational Research and Training
Raipur (Chattisgarh)
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UNIT 1

NUMBERS

I ntroduction to Thousand

Answer and show itintheabacusalso:

L east
Number

Greatest
Number

—1. | Least number and greatest
Number of onedigit

—2. | Least number and greatest
Number of two digits

—3. | Least number and greatest

Number of threedigits
Now answer
9—++1 = , What comes after 9—————
99—+—-1 =————, What comes after 99—————
In thisway

999—+— =—2, What comes after 999 ———— _'




Mathematics - 4

Raju and Chandaare a so trying to know If we try to put one more bead in the

column of ones it will not come on it
because only 9 beads can be there

There are nine beadsin the
ones, tens and hundreds column of the
abacus. In thisway it exhibits the
number nine Hundred ninety nine.
What will happen If one bead is
increased in ones place

Then we have to vacate
the ones columns, In

place of these ten beads
and put one bead in tens
column.

But already there are nine beadsin
the tens column

So vacate the tens column and in place of

these ten beads put one bead in hundreds

column.

Oh, but already
thereare 9 beadsin

hundreds column.
Now what to do?

Now tell what will Rgju and Chandado?

(o)
&S



NUMBERS

Vacate the hundreds column and in place of these nine beads we haveto put one bead
in next column. Thus we need anew column. Thismeans anew place. Thisnew placeis
called thousands. Thereforein place of ten beads of hundredswe put one bead in thousands

colun&q J&:O/\

(10 hundred — ?) (10 hundred — 1thousand)

— —

H T O Th HTO Th H T O

Now answer -
What will be the number if you add 1 with999 ? -----------=----—-—-—ouo-

In the same way-

| 4 | 4 | 4 | 4 | 4 | 4 | 4 | 4 | 4 —
1 ! LI | 1 ! LI | 1 1 1 1 1 I_10

l.e.tenones = ... ten
10—+—-10—+-10—+-10—+—-10—+—-10—+—-10—+—-10—+—-10—+—10 = 100
le.tentens =............ hundreds

In the same way-
100—+—-400—+—-100—+—-400—+—100—+—-400—+—-4100—+—400—+—4100—+—100 =000
Ten hundreds = thousands

Raju and Chanda have exhibited some numbersin abacus. Count the numbersand
writethem in figures and in words.

cceee——

H S
ThHT O Th HT O Th HT O
3142

Three thousand one hundred fortytwo

@
@
@
-4 -4
Th H T O Th HT O Th HT O
P




Mathematics - 4

Write the numbersin figures and words.

1. 4321
2. 1234
3. 2222
4.
5. 7089
6.
7.
8. 3007
9. 5671

Circle on the correct number

eight thousand six hundred two

nine hundred ninety

six thousand seven hundred sixty one

' Threethousand seven hundred fifty nine 769 3957 3579
Fivethousand three hundred twenty 5302 5203 5320 5032
One thousand two 1002 1020 1200 1000
Six thousand ten 60010 6010 6100 6001
Two thousand three hundred sixty nine 2369 2963 2379 230069
Four thousand two hundred ten 40210 4210 4012 40120
Complete the following :
1. 1284 = (1) + (2H) +48 Tens)-+4 Ones) =—1000] [200 |+[30 |+]4 |
2. 2430 = ©+O+©+ C = | + ]+ ]+ ]
3 =C O+ C O+C O+C H=3000 | +[100]+[-0 |+]5 |
4 = + + 6 o = |+ n +:
5. = ©+ ©+O+©: 5000 | + |400 |+|-0 +E
6. = + + = + + +D

S
¢/




NUMBERS

Match the columns

1. 4306 (5000 + 0 + 60 +

2. 1534 (1000 + 300 + 50 +

3. 4603 4000 + 300 + 0O +

4. 1354 (1000 + 500 + 30 +

5 5601 [4000 + 600 + 0 +

6. 5061 (5000 + 600 + 0 +

1.

2. 203,—303,—403,—...corerirreens, ) ) tTURORUN
3 2399, — .., —2401,— e, ey e

4. 755,—745,—735,—..cccovviiins, et e e
5. 999,—888,—777,—..oeerreinn, ) ) tTURORUN




Mathematics - 4

Write the greater number.

Greater number How do you come to know?
1. 5336 and-2336
2. 2135 and 2155
3. 1523 and—1323
4. 3427 0r-3347
Find out thewr ong statement and right statement. Correct thewrong
statement.

For example — 5356 > 4213>3415>2999 (right)

1.

2.

1515 < 5151 < 6345 < 7135 (G T
1239 < 1042 = 1043 > 1051 (G T
8976 < 8796 > 7321 > 5432 G T
5601 < 6510 < 7345 < 8342 G T
4259 < 5942 > 6724 > 9243 (G T

Select any five numbers. Arrange them in descending order first and then in ascend-

ing order using lesser than or greater than sign.

Without repeating the numbersread and write as many numbers asyou can -

Maketwo digit numberswith 3and 8 and read -




NUMBERS

3. Makethreedigit number with 1,2 and4 andread -

..................................................................................................................................
..................................................................................................................................
..................................................................................................................................

.................................................................................................................................

..................................................................................................................................
..................................................................................................................................
..................................................................................................................................

.................................................................................................................................

How many numbersarethere?

Using the numbers given below make the smallest and the greatest number.
Remember that no digit should be repeated.

Smallest number Greatest number

1. 1,234

2. 390-2-5

3. 87,69

4. 4281

5. 579,02

Till now you have learnt upto 9999. Ten digits are used in making these
numbers.

7=
(7))



Mathematics - 4

Writeherewhicharethosenumbers? [ [ || [ ][ [ [ ][ ][]

Can you writeany number without using thesedigits?

Do you know thedifferent waysto writethese numbers?

See the picture of the clock-

You musthave seen these typesof figuresin clocks. These signs
are Roman signs. Thesearecalled RomanNumbers.

By seeing the picture of the clock write first ten Roman
Numbers:

[1 2 '3 |4 |5 6 | 7 |8 | 9 |10
- IX

——

Thereisnosignfor zeroin Roman Numbers.

In Roman Number only seven symbolsareused :

[ | Vv X L C | D M ]
L 1 5 10 50 100 | 500 | 1000 J
Which number isnearer to:
5|7
« [ [ [ [ [ [ [ g
20 30 40 50 60 70 80

57 isthe number which comes between 50 and 60.
57isnearer towhichnumber 500r 60 7 =======mmmmmmmmmm oo

Thus60isnearer to 57, which isthe nearer value of tens?

7|2
< [ [ [ [ | [ [ g
40 50 60 70 80 90 100
72 isthe between 70 and 80
72 isnearer to which number ? Thusthenearest tensvalueof 72 is
1 (|)8
: | [ [ [ [ [ I g
80 90 100 110 120 130 140
108 isnearer to which number? . Thusthe nearest tensvalueof 108is
5a|ao
< | [ [ [ [ [ [ g
200 300 400 500 600 700 800

75N
(8 )



580 is between 500 and 600

NUMBERS

580isnearer to which number? Thusthe nearest hundred valueof 580is
820
< | | | | | | | g
400 500 600 700 800 900 1000
820 isnearer to which number ?---------- What isthe nearest hundred value of 820
1%2
: | | | | | | | g
80 90 100 110 120 130 140
122 isnearer to which number ?--------- Thusthenearest hundred valueof 122 is-=====-=-==----

In special cases, if anumber isjust between any two number sthen how will you calculatethe
nearest hundred valueof that particular number.

Eg. 250isnearer to which number

250
I

| | | I I I I
100 200 300 400 500 600 700

250isjust in between 200 and 300. Inthis casethe nearest hundred value of 250 will be300. Thusthe
nearest hundred value of 250is300.

1. Find out the nearest tensva ue of thefollowing numbers.

24, 65, 92, 148

Find out the nearest hundredsvalue of thefollowing numbers.

235, 709, 676, 550

Find out the nearest tens and hundreds val ue of thefollowing numbers.

138, 5659, 427

%



UNIT 2

ADDITION & SUBTRACTION

Write numbers in the boxes as shown.

—
|35 |suptract 8

tract 10




ADDITION & SUBTRACTION
Under stand the pattern and proceed.
®

1+2+3 =6 : 1+2+3= 6
2+3+4 =9 4+5+6 = 15
3+4+5 =12 . 7+8+9 =24

2+4+6 = 12
8+10+12 =30

In the same way you also maketwo patterns :-

=
=
¢/




Mathematics - 4
Number game:

Select any number from the table. Do calculation using other numbers from the table to
get the number you have selected :-

r 3

43 12 69 5 51 85

24 45 49 36 59 .
By selecting the number 64 you
16 | 15 | 10 | 19 | 73 | 34 find the number in thisway:

14 | 6 7 28 | 52 | 31 60 + 4 = 64,
73 — 9 = 64,
69 — 5 = 64

38 13 21 43 4 60

79 90 32 17 9 40

. J

. Add numbersthe result of whichwill be 34.
. Subtract numbersthe result of whichwill be 34.

Some answer s are given below. Form questions from these numbers:

. ISV dLkLE | theanswer is 18 then the question may be asfollows

. e ayya © What will you get by adding9to 9 ?

. Answer is 21  One basket carries 9 mangoes. How many mangoeswill be

. Answeris12

there in such two baskets?
» What isthe answer of 25-7 ?
* What istwo timesof 9 ?

Add and subtract in the following boxes

+ |731]605 | 615 — | 8817005 |6382
210 613
318 780
605 103
oL

S



ADDITION & SUBTRACTION
Make questions:

Example- 5 0 2 5
— 2 5 + | 1 0
2 5 < 3 5
1 4
— + — +
4 [ 8] s 3| 8] =
9
— + — +
7108 s 9 2 || 7] < 3

Seethetable and givethe answers:

( N

221 | 222 | 223 | 224 | 225 | 226 | 227 | 228 | 229 | 230

231 | 232 | 233 | 234 | 235 | 236 | 237 | 238 | 239 | 240

241 | 242 | 243 | 244 | 245 | 246 | 247 | 248 | 249 | 250

251 | 252 | 253 | 254 | 255 | 256 | 257 | 258 | 259 | 260

How much moreis 231 than 221

How much moreis 241 than 231

How much moreis 251 than 241

How much more is 243 than 242

How much more is 244 than 243

How much more is 245 than 244




Mathematics - 4

Follow the same pattern and find their difference:

Select any one number from the table. Add two numbers from below. Now add the
two numbersfromitsleft side. Intheend find out the difference between the sum of these
two numbers.

Example:

If you select 237 then the sum of two numbers247 + 257 = 504 and the addition of
theleft side number =236 + 235 =471. Thedifference between 504 and 471i.e504 - 471
=33

Do thesamewith three morenumbers. I sthere anything special in
theanswer. Why doesthishappen?

" The question given below are solved by Rahul and Riya. Tell who has solved the
guestions correctly. Write his/ her namein the box.

[7124—18, 216 + 17, 762—176, 800—191]

Thequestion done by Rahul Thequestionsdone by Riya
1
7 1 2 7 1 2
+ 1 8 + 1 8
7 2 10 7 30
1
2 1 6 2 1 6
+ 1 + 1
2 3 3 3 8 6
(1)

ANl



ADDITION & SUBTRACTION

7 6 2 76 2
- 7 6 — 17 6
5 8 6 61 4
8 0 O 80 O
-1 9 1 — 19 1
6 0 9 79 1

Discusswith your friendswho has made the mistakes and where?
How much price ?
The price of abuffalois Rs5000/- . The cost of acow isRs 3000 and the cost of a
goat iIsRs 1000. Seethe picture and say:

1. Add the cost of all the animals in | <%
each column and write the answers
in the blank box.

2. Write the total cost of the cowsin
the given box.

3. Téell thetota cost of two cows and
two goats.

4. Tell the total cost of 1 cow and 3
goats.

5. How many goats can be pur-
chased in the price of one buf-
fdo?

6. Shalu purchased one cow, one buffalo and one goat. After that she had suffi-
cient money to purchase agoat. Tell how much money she had.

Add in expanded form

Example: Add 3453 to 5286.
3453 = Three thousand + Four hundred +Fivetens+ Three ones
3453 =3000 + 400 + 50 + 3

Inthisway
5286 =5 thousands+ 2 hundreds + 8 tens + 6 ones
= 5000 +200+ 80 + 6
Thus
3453 = 3000 + 400 + 50 + 3
+ 5286 = 5000 + 200 + 80 + 6

8000 + 600 + 130 + 9
@)
S




Mathematics - 4

Therefore 8 Th+6Hundreds+ 13 Tens+ 9 Ones
Or 8Th+(6+1) Hun+ 3Tens+90nes
Or 8Th+7Hun+ 3Tens+ 90nes

Example: Add 6875 to 2749

6875 = 6000 + 800 + 70 + 5
2749 = 2000 + 700 + 40 + 9
8000 + 1500 + 110 + 14

8Th+15H + 11 T +14 Ones
O 8Th+15H+ 12T+ 40nes
O 8Th+16H+ 2T+ 4 0Ones

OF 9Th+ 6H+ 2T+ 40nes |BPAGE L2545, |

Thesum is 9624

Brief form :
111

6875
+2749
9624
Writethe answersin expanded form :
1. 2721 and 2620 2. 3510 and 2410 3. 4618 and 3206
4. 7390 and 2000 5. 5881 and 2830 6. 8215 and 1037

The difference in expanded form

Example: The difference of 8657 and 6523 3657 000+600+50+7

8657 = 8000 + 600 + 50 + 7 : +20+3
— 6523 = 6000 + 500 + 20 + 3 6523 6000+500 i
N7

2000 + 100 + 30 + 4

2 thousand + 1 hundred + 3 tens and 4 ones
Example: Subtract 4875 from 6324.
5000 L4, 200 w‘10
6324 = ﬁﬁ(;&'s—’?igégjzbﬁw
— 4875 = 4000 + 800 + 70 + 5
1000 + 400 + 40 + 9

1/

£7E5
(16)




1Th+ 4 Hun+ 4 Tens+ 90nes= 1449

Thus
6324

— 4875
1449

Subtract in expanded form :

1. 2100 from 6301 2.
4. 4000 from 5000 5.

Addition of numbershaving 3 digits:

3000 from 5810
6000 from 6000

ADDITION & SUBTRACTION

4210 from 5380
1037 from 8215

Example:
Add 147, 253 and 268 Solvethese:
H T O
(1]
1 4 7 1 2 7
+ 2 5 3 + 2 1 0
+ 2 6 8 + 2 4 2
8
H T O
©® 1
1 4 7 1 2 4
+ 2 5 3 + 2 6 7
+ 2 6 8 + 7 1 3
6 8
H T O
®
4 7 1 4 5
+ 5 3 + 2 4 6
+ 6 8 + 1 3 2
6 8
Brief form :
© ©
1 4 7 1 1 5
+ 2 5 3 + 1 0 6
+ 2 6 8 + 7 0 3
6 6 8

N




Mathematics - 4

Number 1to 100 arewrittenin 1 2 32| 4|5 6 7| 8|9 10
these boxes. 11213 1415 16|17 18 19 20

Innumber 13, thesumof both | 27 | 22 | 23 | 24 | 25 26 27 28 29 | 30
thedigits 1+3=4. Inthesame way, in

number 57 the sum of both the digits 313233 3435 36 37|38 39 40
Is5+7 =12 and 1+2 = 3. 41 42 | 43 | 44 45 46 | 47 48 49 | 50

51|52 |53 |54 |55 56 57 58 59 60
61 62 63|64 65 66 67|68 69 70
71172 /73 (74 |75 |76 |77 |78 |79 | 80
81 82 83|84 85| 86 87 88|89 90
91|92 93 94|95 96 97 98|99 100

Now in these boxeswrite the sum of the digits & complete the square.

Do you find some order in these numberswrit-
tenin squares?

30+ 9

13+13+13
10+10+19

Writethree numbers, the sum of which is 125 -

9

27 |+ | 50 |+ | 48 = 125 =
+ + = 125 g
+ + = 125
+ + = 125 % Nt
+ + = 125 S >
/18\

S



ADDITION & SUBTRACTION

Solve these questions -

1.

Thereare 438 studentsin Patel Para School. Out of which 198 aregirls. What isthe
number of boysin the school ?

Inagarden, thereare 245 mango trees, 368 guavatrees and 154 papayatrees. What
isthe total number of treesin the garden ?

In aschool there are 435 Hindi books, 412 Maths books and 138 English books.
Write the total number of books.

One boy purchased a copy containing 360 pages. He wrote on 272 pagesin afew
days. How many pagesare blank ?

Hindi, Mathematics and English books contain 368, 370 and 205 pages respec-
tively. Find the total number of pages.

In an election of the gram panchayat first candidate got 638 votes, the second can-
didate got 758 votes and was el ected. Say, the candidate was defeated by how many
votes?

352 and 256 guavas were plucked from two different gardens. Tell, How many more
guavaswere plucked fromfirst garden?

The addition of 4 digitsnumbers::

Example: Add4538 and 3485.

T H. T O
OBNORNO)
4 5 3 8
+ 3 4 8 5
8 0 2 3
Solve these-
1. 4 3 8 5 2. 5 7 3
+ 2 8 7 + 2 5 + 3 6
4. 6 3 4 6 5 3 4 36 6 5 7 8 5
+ 2 8 2 + 2 0 8 + 3 5 1 2
7. 7213 + 2587 8. 1111 + 1199 9. 5789 + 3122
10. 4747 + 4363 11. 689 + 4678 12. 7172 + 938

&5
19)



Mathematics - 4

The subtraction of 4 digit number:-
Example: Substract 6853 from 8327

T H. T O
7 12 12
8 8 R 7
— 6 8 5 3
1 4 7 4
Solve these-
1. 5 0 7 8 2. 7 9 8 1 3 5 6 2
— 2 7 8 4 — 2 5 0 3 - 3 2 0
4. 3 5 6 3 5 6 2 3 0 6 2 5 8
— 2 7 0 6 — 2 4 5 1 — 1 3 2
7. 5643 — 2154 8. 9634 — 5071 9. 5000 — 2550
10. 7111 — 5222 11. 4444 — 2165 12. 8100 — 7899
The population of 3 villagesare inwritten below :
Ladies | Men Boys Girls
Bhanupr atappur 4134 3975 1152 987
Basna 3412 3116 1017 1075
Abhanpur 3532 3580 875 915
See thistable and answer the questions:-
1. How many peoplelivein Bhanupratappur ?
2. In Basnahow many men are |lessthan women ?
3. How many boyslivein Bhanupratappur and Basna?
4. What isthetotal number of boysand girlsin Abhanpur ?
Seethepictureand tell :
Ediblethings | Wheat Rice Maida Sugar Salt Rawa Peas Paddy
InaBag 75 kg 50 kg 50 kg 50 kg 40 kg 40 kg 75 kg 75 kg

_——

=~

Malda. gar Wheat Paddy R

===

55
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ADDITION & SUBTRACTION

What isthetotal weight of Rawa?

What isthetotal quantity of 4 sacksof riceand 3 sacksof salt?

How muchistheweight of the sacks of Rawalessthan theweight of the

sacksof maida?

Among givenediblethings, whichareequa inweight?

What isthetotal weight of 1 sack of maidaand 2 sacks of rice?

Among the aboveediblethings given which hasthe maximum and minimum weight ?
Thetota number of sacksof al theediblethings.

See the picture and say who has spent how much money to purchase things at the
following price :

Harpal purchased cycleand T.V.

Dinesh purchased bat ball, radio and mobile.

Raju purchased bucket and mug, amirah and telephone.
Salmapurchased hockey stick, radio and mobile.

Reeti purchased bucket, mug, radio and amirah.

If every person has Rs. 9,500 then what amount of money would beleft with each one?

AN N N N N
— — N N N

757N
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Now tell -

1. Who has spent more: Harpal or Dinesh ?

2. Who has spent more: Dinesh or Reeti ? By how much ?
3. What isthetotal amount spent by Rgju and Salmaboth?
4. How much lesswas spent by Salmathan Harpal ?

Now you ask your friends about their favourite thingsand find out their cost.
Calculation based on Addition:
Examplel: Thereare78 marblesinabag and 23inanother bag. If you add marblesfrom

both the bags, then cal cul ate the total number of marbles. Before cal culating
78 + 23firgt, find the nearest tens value of 78 and 23 and add them.

~

78 isnear to 80 and

Number Nearest Tens
78 80
23 20

\.

Celculated Total 80

Actual Total 78

Thus on adding marbles of both the bags. We get about hundred marbles. Therefore
the difference between the cal culated number (100) and actual number (101) isonly 1.

Example2: Inprimary school , 172 boysand 121 girlsareregistered. Calculate thetotal
number of studentsin the school ?
Before calculation, find out the nearest value of 172 and 121 and add them:

First find the nearest thousand valve of Rs. 3725 and Rs. 1650.

Number Nearest Hundred
[ 172 200
[ 121 100




ADDITION & SUBTRACTION

Calculated Total — 200
+ 100
300
Actual Total— 172
+ 121
293

Thus the calculated total of the studentsis 300 which isvery near the actual total 293.

Example3: Rau went to market to purchase aportable T.V. and fan. Their cost are Rs.
3725 and Rs. 1650. Now youtell, nearly how much amount of money should
Raucarry?

First find the nearest thousand value of Rs. 3725 and Rs. 1650.

Number Near est Thousand ]
3725 4000
1650 2000

Calculated Total 4000
+ 2000
6000

Actual Total 3725
+ 1650
5375

Therefore Raju should carry Rs. 6000 to market for both the markét.
Now tell the calculated and the actual total
Hint— < If the number isof two digitsthen of nearest Tens.
e |If thenumber isof three digitsthen of nearest Hundred.
»  |f thenumber isof four digitsthen of nearest Thousand.

1. 47, 81 2. 67, 32 3. 97, 15 4. 72,138
5. 8251, 1310 6. 5371, 3800 7. 7214, 1818 8. 632, 225
9. 5990, 4137 10. 265, 381 11. 703, 581 12. 6410, 3817

A
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M ethodsof Vedic Maths

You have aready learnt addition, subtraction, multiplication and division. Therearea
few simple and interesting methods for this processes in Vadic Maths also. Here we will
introduce them to you. Before knowing about these methods let us get acquainted with
digits.

Digits (Ank)- 0,1,2,3,4,5,6,7,8,9. These are the ten digits. All the numbers are written
using thesedigits.

Bijank- InVedic Mathsdigitsfrom 1to 9 are called Bijank. To find out the Bijank
of any number, thedigit of the number areadded till asingledigit numberis
obtained.

For example —

Tofind out the Bijank of 35, wewill additsdigits.
3+5=8
So the Bijank of 35is8
Similarly -
Bijank of 97
9+ 7=16but 16 has 2 digits So we will add these digitsalso
1+6=7

SotheBijank of 97is7
Param Mitra Ank —

Any 2 digitswhose total is 10 are called Param Mitra of each other.
For example —

1+9=10

So 1isParam Mitraof 9

and 9 isParam Mitraof 1

Now let’s practice it a bit

Exercise

Q. 1- What arethedigitsthat are used for writing numbers?
Q. 2- WritetheBijank of following numbers.

(i) 12 (i) 15 (i) 17 (iv) 19 (v) 37
(vi) 44 (vii) 56 (viii) 67 (ix) 96 (x) 183
Q. 3- Writethe Param Mitra number of the following numbers.
@2 (i) 3 (iii) 4 Py (iv)5
24
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ADDITION & SUBTRACTION

Ekadhiken Poorven-
Themeaning of Ekadhiken Poorven istake one more than the previous number.
For example -3 isthe ekadhik of 2
Similarly -  4istheekadhik of 3
Can you tell the ekadhik of each digit from1t09?
Eknyunen Poorven -
Themeaning of EKNyunenPoorven istake onelessthan the previous number.
For example - 7iseknyunof 8, Smilarly 4 iseknyun of 5
Now you tell the eknyun of all thedigit from1to 9.

Inthe methods of Vedic Maths, Ekadhiken Poorven and Eknyunen Poorven are used
at many places.

Now tell —

What numberswill you get from the following numbers by doing its Ekadhik twice?
(i) 22 (ii) 43 (iii) 30 (iv) 58

Sometimesit isnecessary to do Ekadhik or Eknyun more than once.

For example —

We get 13 by doing Ekadhik of 12 and 14 when we again do Ekadhik of 13 that isget
14 when we do Ekadhik of 12 twice.

Now letsdo Eknyunen of 12 twice.

We get 11 by doing Eknyun and 10 when we again do Eknyun of 11 weget 10thatis
whenwe do Eknyunen of 12 twice.

What numberswe will get when we do Ekadhik of these numbersthrice?
(i) 23 (ii) 15 (iii) 36 (iv) 42
Choose some numbers on your own and practice Ekadhik of these numbers.
Now tell -
What numberswill you get by doing EKNyunen twice?
(i) 16 (ii) 30 (iii) 67 (iv) 75
What numberswill you get from these numbers by doing EKNyunen thrice?

Choose some numbers on your own and practice doing Eknyun twice or thrice.
FOT Y
25
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Addition with the help of Param Mitra.

If wehavetoadd 1,2 or 3to any digit, we can do it by doing Ekadhik as per need. But
if both the digitsare greater than 5, it is easy to add with the help of Param Mitra.

L ets, look at an example.

9
+7

Herewehavetoadd 9 and 7. Param MitraAnk of 9is 1.
Sowetaken 1from 7 and add it to 9.

Now9+1=10
Andtaking out 1 from 7 makesit 6. By adding 6 to 10, we get 16
.e.
9
+7
16
Similarly practice addition with the help of Param Mitra.
(i7+8 (i)8+6 (iii)9+8 (iv)6+9

Inasimilar way, take two digits greater than 5 and try adding them with the help of
Param Mitra.

/A
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Unit3

Multiplication and division

You have aready done multiplication and division in previous classes-
Some similar questions (sums) are given below —
Answersof the questionsare given in adjacent boxes.

Solvethe questions. Colour the boxes which have the answers. When all the boxeswill be
coloured, you will get afigure.

46 X 6
7 X 13
66 — 2
11 X 6

A box contains 7 balls. How many boxes are needed for 63 balls?

Cost of 1 kg sugar isRs14/- Rajiv bought 5 kg of sugar. How much money should he
pay to the shopkeeper?.

There are 16 guavatrees, 16 orangetrees, 16 papayatreesand 16 mango treesin a
fruit garden (orchard). What isthetota number of treesin thefruit garden(orchard)?
There are 72 oranges. Distribute them among 6 persons. How many oranges will
each person get?

You haveaready learnt in previons classes that multiplication meansadd again and
again:

1 Box contain 18 chaksticks. How many chalkstickswill be therein such 3 boxes?
18 + 18 + 18 = 54 i.e. 18 X 3 = 54

You aready know 6 X 5 =5 X 6
Find out the product of two numbers. You will seeif you change the position of the

number, the product will besamei.e 3 X 4 =4 X 3

Tell everyoneif you find any two numbersfor which thisisnot true.

(O7)
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Now solvethefollowing problems quickly:-

1 8 X 8 =64 8 X9 =
2 12 X 9 = 108 9 X 12 =
3 19 X 10 = 190 20 X 10 = e
4. 20 X 5 = 100 20 X 4 =
5 29 X 4 = 116 30 X 4 = L
6 26 X 8 = 208 26 X 7 = s

Find the missing number:

: (20+3)x9
: TR - 20X9=180
Different methods of multiplication SN s
o . ) 230—23=207
Thereare 23 chairsinarow. How many chairswill NOW 2597237207 4a0.457=07

be there in 9 such rows? Meena and Tinu solved thisin
different ways.

Inhow many moreways can you solvethisproblem 7

Some more problem sums

1. Inagardenthereare 7 rows. In each row 15 rose plants are planted. How many total
rose plants are there?

2. Thereare 25 orangesin abasket. How many orangeswill comein such 5 baskets ?

3. A tailor stiches 12 shirtsin one day. How many shirts does he stitch in 4 days?

You should try some more such problemsand solveitin different ways. Try at least
4-5 processes for each problem.

How to solve?

In previousclassyou did sumslike34 X 7, 126 X 2
Now wewill see 32 X 16

1 Whenever you multiply anumber with some two digits number,
32 first you multiply ones number.
X 16 In this number ones digit is6 therefore 32 X 6 = 192

192 (32 X 6)  Now the second digit, 1 tensi.e. 10 ismultiplied by 32
320 (32 X 10) 32 X 10 = 320 | Now you add both (192+320). The answer
512 will be512.

O
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MULTIPLICATION AND DIVISION

There is one more process for multiplication

32 X 16 =7 Wecanwriteit32 =30 + 2 & 16 = 10 + 6
X | 30 2
10 | 30 X 10 2 X 10 Now add all the four numbers.

300 20 300 + 180 + 20 + 12 = —————
6| 30 X6 2 X6

180 12

Isthe answer the same asit wasin previous process?
Now solve the sums given below in both the processes -

1. 45 X 23 2. 95 X 89 3. 67 X 72
4. 57 X 69 5. 30 X 29 6. 15 X 49
Observe and understand: 346 X 25 = ? other processto solveit.
346 346 =300 + 40 + 6 & 25 =20 + 5
X 25 x | 300 40 6
1730 (346 X 5)
1 6920 (346 X 20 ) 20 | 300 X 20 40 X 20 | 6 X 20
8650 6000 800 120
5 | 300 X5 40 X 5 6 X5
1500 200 30

Thus 346 X 25 = 6000 + 1500 + 800 + 200 + 120 + 30
Or 346 X 25 = 8650

Solvethese:

1. 132 X 95 2. 465 X 38 3. 278 X 47

4. 921 X 66 5. 760 X 19 6. 803 X 45

Problem Sums;

. There are 65 studentsin aschool. All deposited Rs 15 for picnic. What isthe total
amount deposited?

. Radhaisin need of 14 copies. If each copy costs Rs 16. How much money does
Radharequire?

. Inasmall box 12 ice cream cups can be kept. In abig box 15 times more

icecream cups can be kept. Answer how many icecreams can be kept in big box?

. A sareehas 25 different designs. Every design has 16 colours. A shopkeeper wants

to purchase one piece of each type of _séree for his shop. How many sarees the
9
2
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shopkeeper hasto purchase for shop?
. Onechair costs Rs. 436. What will be the cost of 35 chairs?

. Ramesh went to the market with Rs. 3000. He purchased 12 sets of books at the
rate of Rs 175. How much money isleft with him?

Form question from the given answer

12 18
6 X 2 2 X6
12 X 1 4 X 3
3 X 4
48 25
Game of tables (Tablesgame)
If you know the tables from one to ten then you can form tables beyond ten:
Let usdevelop table of 13:-
Tableof 10 10 20 30 40 50 60 70 80 9 | 100 )
Tableof 3 3 6 9 12 15 18 | 21 24 | 27 | 30
L Tableof 13 13 26 39 52 65 78 91 104 | 117 | 130 |

Toformtable of 13 first wewrote table of 10 and then table of 3. then added them
and we get the table of 13, 7+6 =13 what will happen if we add tablesof 7 and 6 ?

Let usdo and observe -
Tableof 7 7 14 21 28 35 42 49 56 63 70
Tableof 6 6 12 18 24 30 36 42 48 54 60
_ Tableof 13 13 [ fis s s L L e [ )

Do you get the table of 13? Can you develop thetable of 13 by using other numbers?
Which are those numbers?

.......................

(20
)



MULTIPLICATION AND DIVISION

When we haveto distribute the thingsequally wedivideit. You havelearntin class 3
that we do division by subtracting the same number again and again or by telling the
tables.

Ex. 15 apples are distributed equally among 5 children. Tell how many will each
child get?

3
515
15

In thisway you have seen that by both the processes of division 5 children got 3
apples.

2. 40+ 4= ——

3. 150 + 5= ————

4. 63+ 7= ——

5. How many times can 5 be subtracted from 45?

6. If 108 thingsare distributed in 9 groups then how many groupswill beformed?

7. Inajeep only 8 people can sit. Then how many timeswill the jeep berequired to take
48 people to the market.

8. One gardener has 60 flowers. If he makes agarland of 12 flowers then how many

garlandswould be made?

9. Onebox can contain 10 books. Then how many boxeswould be required to keep 100
books.

Remainder
Can 13 sweetsbedivided equally among 4 children.

3 Youknow:
413 Here 4 divisor
12 13 dividend

1 ad 3 quotient

This means that when 13 sweets were distributed equally among 4 children then
each child got 3 sweets and one sweet was|eft. Here remainder = 1.

21 )
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Remainder=1

Now solvethe questions given bel ow.

25 + 4 2. 39+6 3. 53+8
: 7)529 5. 9)353 6. 3)654
7. 84+ 4 8. 49 +7 9. 97+ 6

Write the divisor, dividend, quotient and remainder separately. Write the questions,
which have a remainder of ‘0’ in your copy and make a problem sum of these
question. Two problem sums are given here —

1. 25 —4
Theteacher took out 25 books and distributed them equally among 4 children. Tell
how many books each child would get and how many bookswould beleft.

2. 3)654
The cost of 3 chairsisRs 654. Then what isthe cost of one chair?
Make questionsand solve

484 — 4
THE COSE Of 4 SAIEES oottt e e e e e e neanen

Different waysof division
Theteacher gave questions of division to the students and asked themto solveitin
their copies. Look at thewaysin which the students solved the questions.

71 70+1 40+30+1
4)284 4) 284 4) 284
- 28 —280 —160

04 04 124

~4 ~4 —120
0 0 04
—4
200 -4 = 50 0
284 = 200+80+4, 284 — 4 =<SO —4 =20
4 +4 = 1
71
(B2)
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MULTIPLICATION AND DIVISION

Areal the solutions correct? Discuss. Solve the questions of division in different
way and tell which oneyou like and why?

Naseem and Sushilaweretalking. Sushilaasked her to tell quickly what would bethe
answer on dividing 1018 by 11? Naseem told that the answer would be approximately 100.

How can we guessthe answers of these questions?
L etsobserve:
Naseem said 1018 is near to 1000 and 11 is near to 10.
Therefore we can divide 1000 by 10, (1000 + 10)
and the answer would be near to 100.
Now guessthe answers of thefollowings questions and ask others.

1. What would be the answer on dividing 97 by 31?
2. What would be theanswer on dividing 932 by 9?
3. How many heaps of 8 guavas can be madefrom 118 guavas?

How to solve
You have already done division in previous classes. Canyou tell 372 ~ 12 = 7
31 Here372isto bedivided by 12. You can not distribute
121372 3 hundredsinto 12 parts. So convert 3hundredsinto tens.

In thisway 30 tens +7 Tens makes 37 tens.

=36 (12x3=36)  \yat will be the divisor of 37 by 12 Let usread

12 thetable of 12
12 X 1 =12

12 (12x1) 12 X 2 = 24
12 X 3 = 36

00 12 X 4 = 48

48, isgreater than 37. Soweread tableof 12 only three
times and subtrat 36 from 37. 1 tenswill be remainder
which we convert into ones. Inthisway 10+2 =12 Ones
Now dividing 12 by 12 isequal to 1.
Thiscan aso bedonein thisway:
20+5+6

12) 300+ 72
—240 (12x20) 20+5+6 = 31
60
—80  (12x5)
00 72

— 72 (12x6)
— 00

(32
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Now solvethese questions:

1.

Oneropeis132mlong. If we cut theropeinto piecesof 12 meter each. How many
pieces can be cut?

Onebox contains 17 bottles then how many bottleswill betherein 12 boxes?

There are 252 apples in a basket. How many apples each person will get if these
applesaredistributed among 18 people?

A bag contains 55 numbers of 1Rupee coins. How many heaps can be made by these
coinsif each heap hasfiverupees.

If onehasto pay Rs. 1650 for 3 fans. What isthe cost of one fan?

12 studentsof class1V got Rs. 900 as scholorship. Tell how much rupees each student
got?

You also form these type of questions. Solve it and show it to your friends and
teachers.

There are some numbers and signs kept in boxes given below. Ravi

has arranged them properly. But Kamla has disturbed them. Can you re-

arrange them?

=1 ol [=] [2] [5]
las| =] [3 ] =] [u5
3] [x1 [2] [4a] [=]
3 ] 18] [o] [=] =]
20l = [5| [=] [4]

Sate which solutions are right and which solution are wrong. Find

the mistake and correct the wrong solution.

1.

10 2. 33 3. 114
7)8L 3)99 4) 96
=7 9 -4

1 a; 5
-9 ml
0 16
_16
00

R
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MULTIPLICATION AND DIVISION

4 1 5. 07 7. 12
_ 0 -

3 56 8
- -8

0

You have already done problem sums. Now you form problem sums
from the facts given below.

1. 125 - 5 2. 53 X 4 3. 15 + 15 + 15
4. 763 — 365 5. 256 — 12 6. 105 — 15
7. 108 X 13 8. 256 + 200 + 300 9. 63 X 9

You also make such type of sums. Do it yourself and also ask your friendsto doit.

(35
)



Unit 4

FRACTION

1
inclasslll. Doyouremember wesaid — ashalf

1
You haveread about > >

and exhibited infigureinthisw

1
2= half = @ (Colour part)

Fill up the blankswith similar figures

Rt N
IA_Ioo
Wik

= onefourth =

Wik AWHIF

Shahnaz and Mala have prepared some diagrams and figures. What is the value of
this coloured part. Write the names below the figures.




Fraction

Numer ator and denominator

2
You must know that in § , 2isnumerator and 8 isdenominator.

Numerator ..............

Now tell which number isnumerator — <, <» =< Denominator ...........

Now dothefractionsin figuresalso. If somefractionisexhibited by figure how can
you recognize numerator and denominator. L et see the examples.

1
Example- Wecan exhibit Z

Coloured portion = 1 (numerator)
Uncol oured and coloured portion (total) = 4 means denominator.
In thi do — 11 d 3
n thisway do 3,2,3an 4
Thetotal number of divisions of athing isits denominator and the coloured divi-
sions are numerators

Seethesefiguresand tell what isthetotal number of partsand the number of
coloured parts. Then tell the numerator and the denominator.

Writein Fraction: _
Herewe have distributed apiece of paper into 8 equal r ..
parts.

One part is coloured.

Coloured part of paper =1

Total number of parts of the paper =8

1
Therefore the coloured part is 3 (1 upon 8) of the whole
piece of paper.

P
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2
Inthe sameway if 2 parts of the paper are coloured then the coloured part is 3 (2
upon 8) of the whole piece of paper. Here numerator is 2 and denominator is 8.

. Totell g how many partswill you colour ?

. If we colour 4 partsthen what part will be
the coloured part of whole piece of paper?

. If we colour 7 parts of whole piece of paper then
coloured part of whole piece of paper?

. 5 parts of whole piece of paper?

. If al parts of whole piece of paper iscoloured,

then writein fraction.
Write the coloured parts as fraction in the figure given below —

Some fractions are given below. Exhibit them in thefigure:
3 5

5 7

4
9

ool w

N
wIiN

ol o
olu

'\
N/




Fraction

Write asdirected:

A fraction in which denominator is8 & numerator is5
A fraction in which denominator is5 and numerator is13
Three fractions in which denominator is double of numerator
Two fractions of equal denominators

a 0 bhd =

Two fractionsin which numerators are sasme but denominatorsaredifferent. ————

Division isalso fraction

Do you know that collection of things can bedivided
into equal parts. You may havedivided thingsequally between
your two friends, thismeansboth of them havetaken thethings
half-half.

Sushila and Chandar collected 16 jamuns. If they
distributed it equally between themsel ves. How many jamuns
will each get.

We can explain this as follows —

Total number of jamunswas 16

equally divided in two parts

Sushila's shareishalf of thetotal or 21

Chandar's shareis half of thetotal or 5

Each portion have 8 jamuns

1
Therefore half of 16 = 8 or E of 16=8
Now you do

-

Total number of mangoes  ————

How many equal portionof ——————
mangoeswere made?

What part of total number
isrepresented by each protion? ————

What isthe number of mangoes
ineachportion? = —————

Therefore% of 30=5

COOODO
COOODO
COOODO
COOODO
COOODO
o000

r

Tt
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Totd number of kites  -------=-====o=-=-
In how many equal portionsit isdivided ------------------
How will you write each portioninfraction ---------------

Number of kitesin each portion ---------------

Therefore% of 18 = ——cmememeeeee

¥S) ¥ V&) ¥9) ¥ ¥

\

| Total number of balls =~ =80 —————

Inhow many equa partsit hasbeendivided————

How will you writeone part infration?—————

How will you writetwo partsinfration?————

State the number of ballsin two parts ————

2
Therefore — of 5=

3
Now doit (Draw thefigurefirst, if needed)
. Therewere 16 bananasout of which | ate4. Tell what fraction of bananas areleft?
. In abasket there are 6 mangoes, 4 bananasand 5 apples. What isthe fraction of the

applesamong the entirefriuts?

. Kailash has 10 biscuits. Out of which he gave 2 bisucuitsto Shubha. Tell what frac-
tion did Shubhaget ?

Big & Small Fraction
1 1 3
In your previous class you read about hal f (E)' quarter (Z)' threefourth (Z) and

1
onethird (5 ). Thesewords are also used in other examples.

Where do you usethesewordsin daily life?

'\
7




Fraction

1 1
If you got 5 of aguavaand your friend got 4 th, who got more?

1 1
Which isagreater fraction: 5 or —?

1 1
Yougotitright : 5 Isgreater than 4

1 2
Let usfind which isthe greatest fraction among 5 6 and

olu
-~

See these figures -

.1 |
Here coloured portion is 5 of the whole.Here uncoloured portion is ...... of the

whole.

Here coloured portionis.......... of the whole.

Among all of these, which figure has maximum coloured part? Which fraction ex-
hibits the maximum coloured part ? ——————

Thisfractionisthe greatest fraction among all three.

Now see the figures and fill which fraction is greater and which fraction is
smaller ?

1 § Betweenthe@etwofraction% IS
4 4 3
smallerthan —
4
It can be shown as 1< §
3 ) 4 4
5 [
2 1
8 8

N
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3 S
o g —
4 3
- T —
1 2
- R
2 3
5 5

If denominator of two fractions are equal then the fraction having greater
value of numerator isa greater fraction.

Arrangethe numbersin order
You have already arranged the number like1,

2, 3,4, and 98, 99, 100, 101, 102, ... etc.

Now arrangethefractionsinincreasing order.

86531472

9°'9°9°'9°9°'9'9' 9

You can aso writethem by using thesign - <, >

F [ }<Z<
or example— 9 9
Or
8
—>
9

Whichisthe greatest and the smallest fraction among these ?

(75)
(42)




Fraction

Addition of Fraction

1
Mother gave guavato Seema. Seematold "l want to eat half (E ) only." Sheate half

1
(E ). The guavawas sweet, so shetook the other half also and ate that al so.

We can show the guava, which Seemaate, inthisway —,

atefirst ate after It means ate both the parts (awhole Guava)

We can also writethisin following way —

1 1  ateboththe portions 2 141
5 T 5 TIndl2potionswere 5
made

L et us see one mor e example -

Sakina started sowing the field.
The field was big so it cannot be
completed within aday. She divided the

fieldin 6 equal portions.

She thought that she would sow
one portion of the field every day. She
did the same.

1 Sowed portions
Thesowing doneinfirst day 6 = Tota portionsof thefield
Sowing donetill dd 1+£—1i1—E
wing donetill second day. 676 6 &
_ . 1 1 1 1 1+1+1+1+1 5
Sowing donetill 5th day E+E+E+E+E: % %

1 1
And sowing donettill 6thday <+ -+ ...+ ..+ S
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Now add thefraction : Oneof thetwo fractionsisdivided
into four parts. If you add one
fourth part to two-fourth part it be-
comes three fourth part.

2N

[N
+
N
1
Mlw

+

NN

.

_|_
olN
[l

.......... + o =
The fraction you have just seen had equal denominators. If denominator is
equal it meansthe portionsof both the fractionsare equal.
Subtraction of Fraction :
7
A sugar canesdller cut thesugarcaneinto 10 equal parts. Hegave 7 partsi.e. 0 part

of the sugar cane to Jayant. He gave the remaning part i.e. 10 part of the sugar caneto

Sweety. Now tell how much part iswith Jayant than Sweety ?

— i,
e __—(::EL_T::TC_—- L — L — T —-_-;_‘Lﬂ — _'—'_a__-d_fl-”. _='_"_:.‘|

Jayant's Portion Sweety's Portion

FTTR
(44)



Fraction

How much moredid Jayantget = Jayant's portion - Sweety's portion

4
Jayant has 0 part more than sweety.

Now see them :

5 5.2 52 52 3
6 6 6 6 6 6 6
5 shaded part 5 shaded part of thecircle Remaining 3
of the circle — 2 shaded part Shaded part
Inthe sameway
4_1_413 8 _ 3 _.83.5
5 5 5 5 9 9 9 9
Fill in the blanks given below :
5 4 5-4 [] 3 _7-3_4
A ss s s 8 0710”10 [J
o &2 U0 U py 3.1 UL U
77 [ 1] 4 4 ] []
Subtract —
1 2 1 4
A) 3 from 3 B) g fromg
5 6 1 3
C) - from - D) 10 from .o

Fractions which are equal

You have read about big and small fractionsand did some exercisesaso. Here some
more diagrams along with fractionsare given.

] 1 _ coloured portions

3 total portions

2
6

()
(45)
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Colour one part of arectangle which isdivided into 3 equal parts. If you had 6
parts of the same rectangle, colour 2 partsof it. In both the conditions the coloured parts

e 12
erefore - = =
Thus 3 6

1_2
2 4

Write thefraction of the diagrams given below. Then join the equal fractionswith lines.

Fraction more than one

Suppose we have two apples. If you ate half of an apple what part is left
with us?

Only half 1 /2 appleisleft from the apple which you ate.

The other apple remains unused. Divide the other apple into two equal halves.
Thenitisequal to 2 halves of an apple.

We are left with — half of thefirst apple and two halves of the other apple.
It meanstotal three halves.

+ 2+ 2

+ 1 + 1
- 2

I
— N =

I
N | w

3
We are left with > apples.

\
/.




Symmetry

Unit 5

See the figures given below

In the middle of eachfigure onelineisdrawn.

Are the figures in both side of the line alike (same)?
There are some morefiguresgiven below. Linesareaso drawnin thesefl gure. Some
figuresare alike. On both sides of the line. Recognize them and colour them.

Art on Paper

 Fold apiece of paper from the center.

» Open the paper and pour some drops of ink on it.
» Againfold the paper inthe sameway and pressit.

» Now open the paper and you will get some figures on
both the sides.

Here onefigureis madefor you.
Arethisfigure and thefigure made by you both
symmetrical figures?

ey
{47)
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Now dothis:

Fold apiece of paper fromthe middieor (centre). Take onethread
anddipitinink. Now put the thread on the centre of the paper. Now
press the paper with the one hand and pull out the thread with the
other hand. Open the paper and see. | sthefigure same on both sides
of the paper?

Now you see, after doing all these activities you get similar
figures. So thesefiguresare symmetrical figures. Thelineonwhich
similar figuresaredrawn in both sidesisknown as symmetrical axis.

Practice
| dentify the symmetrical axisand draw linewith pencil over it.

o3 A W
v I
/
/ ~ i
71—— — 1
|
|
Do and see

Takeapiece of coloured paper and fold it from the centre cut any figure with scissors
from thefigures given below. Open the piece of paper and see.

Have you ever seen any one cut paper likethis? Where?
Try the same by folding the paper several times. You will get funny figures. Which
You can use this to decorate your class room or your room. |

Comelet usmake mask:

Fold a paper from the centre.

1.
2. Draw half figure of afacewith the help of apencil.
3. Cut the eye and ear with the help of a scissor.

4. Open the paper and the mask isready.

In the same way you can prepare different masksin different shapes

£12)
\4_8/




Symmetry

Practice
Draw symmetrical axiesinthefiguresgiven below.

Y
(49



Length
L et's play some game

Collect these things with the help of your friends
. cap of asmall bottle . matchbox . apieceof tile

Now make amark on the ground and put one of these thing onit. Now hit the item
with your finger. Mark that place with a chalk where the item stops. Measure the distance
between both the marksand writeit inthe following table.

Name of the player First attempt Second attempt

................................................ cm U o 1 |

................................................ cm cerverenees CM

................................................ cm U o 1 |
Letsdolongjump

All the students of the class go to thefield

with your teacher. Draw alineonthefield.
Every student doeslong jump by turns.

M easure the distance covered by each student by
metre scale and show it to your teacher. The
student who jumpsthe longest will be the winner.

Name Makeit dear

................................. mis.. . om
........................................................ mis.. . om
........................................................ mis.. . om




Measurement

Guess and writethe length of the thingswritten in the table:

ltems Length (approx) | Length(after measurement) /T
Book | .. CM e, Cj
Sate | ... cm ”_’!
Rubber | ... cCMm -
Pencil | ... CM f/"
Rope | ... mtr ........ CM| -
Door | ... mtr ........ CM| "—'—*"I
Table | .. mtr ........ CM | e S
Now take one metre scale or measuring tape used by {

tailors. Measureall thethings one by onewiththehelp of your -
teacher and writetheminthetable.

Now measure the things and see how much closeisthe guessed measurement tothe
actual measurement.

You haveread inclassl||
1 metre =100cm

100 cm = 1 metre
Let’s convert (change) 4 metres into centimetre
4 metre 1 mtr+1mtr+ 1mtr+1mtr

100cm + 100 cm+100cm+100 cm
100 x 4 centimetre or 4 x 100 centimetre
= 400 centimetre

What isthe distance ?
Take 1 mtr of measuring tape used by tailor.

Go out in the field. Insert one nail on the . . .. - & '

ground. Draw asix metrelong linefrom here. '\ y

Now mark at every 50 cmdistanceontheline. = «* ' i

Make one child stand on every mark. &‘\

Now tell : = e

.« Whois standing at 2 metre distance 4
from the nail

. What isthe distance between the child
standing on thethird and fifth position.

. Who is standing at 500 cm distance X
fromthenail.

(i
(o1

o/
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Fill intheblanks

3 mtr = 3 x 100 cm or 300 cm
5 mitr = ... X o cm or .. cm
8 mitr = ... X o cm or .. cm
9 mtr = ... X o cm or .. cm
6 mtr = ... X o cm or .. cm

Example : Ramahas5 metres and 75 centimetres long cloth. How will you convert this
measurement into centimeter?

L et usdo and see: 5 mtrs 75 centimetres

=5 mtr+ 75 cm

5 x 100 cm+ 75 cm
= 500 cm+ 75 cm

= 575 CM

There are six houses in a colony of Asnavillage. The length of the courtyards of
these houses are given in metres and centimetres. Convert the length in centimetres and
writeit in your copy.

1. 5 mtr 25 cm 2. 7 mtr 87 cm
3. 9 mtr 5 cm 4. 14 mtr 50 cm
5. 20 mtr 95 cm 6. 21 mtr 27 cm

Example: Convert 300 cm into metre

300 cm 100 cm + 100 cm + 100 cm

1mtr+1mtr+ 1mtr
3 metres

Given below are the lengths of different ropesin centimeters. Convert them
and writein metres and centimetres

400 cm = e mtr
500 cm = e mtr
700 cm = mtr
340 cm = mtr—.o....... cm
930 cm = mtr ... cm
1125 cm = mtr—............ cm




Measurement

Somelinesand diagramsare given below. Measuretheir length with the help
of your small scale. “

How to add:

Example:

Reeta's house is 42 mts and 35
cm far from the well. Rekha’s house is
25 mtr 40 cms from Reeta’s house.
How far is Rekha’s house from the
wel|?

Rita'sHouse

42 mtr 35 cm Rekha'sHouse
+ 25 mtr 40 cm

67 mtr 75 cm
Therefore Rekha's houseis 67 mts 75 cms from the well.

Exercise
1. 12 mtr 40 cm 2. 36 mtr 75 cm

+ 25 mtr 27 cm + 15 mtr 15 cm

3. 22 mtr 35 cm 4. 50 mtr 25 cm
+ 19 mtr 40 cm + 35 mtr 55 cm

Guessthesum:

42 mtr 35 cm+ 57 mtr 20 cm
64 mtr 21 cm + 27 mtr 49 cm
25 mtr 31 cm+ 65 mtr 29 cm

Now verify your guess.

—
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Example

Mohan'shouseis 25 mts and 90 cm from the well. Asifs house is 37 mtr 65 cm from

Mohans house. What isthe distance of Asif’shousefromthewell ?

55 cms from the well.

Thissum (question) can be solved in the given
manner also.

First guessthen add and answer
1.

Onemoreexample

25 mts 90 cm
+ 37 mts 65 cm

62 mts 155 cm ﬁ;_@_j
But 100 cm = 1 mts
Therefore 62 mts 155 c¢cm
=62 mts & 1 mts 55 cm
Thus the distance of Asifs house is 63 mts

25 mts 90 cm
+ 37 mts 65 cm

63 mts55 cm

43 mts45 cm & 32 mts 75 cm

2. 26 mts 85 cm & 18 mts 35 cm
3.
4

148 mts 55 cm & 71 mtS 45 cm
65 mMts25 cm & 25 mts 75 cm

Now check your guess

45 cm 9 millimetre
+12 cm 7 millimetre

57 cm 16 millimetre

57 cm 16 millimetre
=57 cm & 1 cm 6 millimetre
= 58 cm 6 millimetre

Add:

A 0N~

45 cm 3 millimetre & 18 cm 6 millimetre
86 ¢cm 7 millimetre & 53 cm 8 millimetre
39 cm 5 millimetre & 28 cm 5 millimetre

68 ¢cm 4 millimetre & 30 cm 9 millimetre

FETS
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Measurement

How to subtract
Example

First tree is 45 mts 50 cms far
from third tree. Second tree is 25 mts
20 cms far from the third tree.

Answer what isthedistance
between first and second tree?
45 mts50 cm

— 25 mts 20 cm

20 mis 30 cm

Thusthe difference between first and second tree1s 20 mts and 30 cms.

How to subtract these:
you cannot subtract 25 cms from 10 cms

— 3 mtr 25 cm therefore change into centimetre

72 mtS10 €M

_32mts25cm -
1 mtr = 100 cm

Therefore 72 mtrs 10 cmswill be 71 mtrs 110 cm

Now you can subtract easily

71 mts 110 cm

—32 mts 25 cm
— 39 MtS 85 Cnm

First guessthen subtract and answer:

25 mts 20 cmfrom 48 mts 40 cm
13 mts 75 cmfrom 31 mts65 cm
12 mts 90 cmfrom 18 mts 60 cm
52 mts 70 cmfrom 85 mts 50 cm

One moreexample:

Thelength of amat is 18 mts45 cms. What
will bethetotal length of four such mats ?

Solution: You know how to solve this question.
We have to do multiplication.

18 mts 45cm x 4
First 45 cmis multiplied by 4 then 18 mts

A e

oy
{(55)
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ismultiplied by 4 That comesto
72 mts180 cm

But you know :
180 cm = 1 mts80 cm

Therefore 72 mtr 180 cmsis 73 mts and 80 cms
Thusthetotal length of four matswill be 73 mts80 cms.
First guess then solve :
1. Multiply 15 mts 50 cms by 3

2. Multiply 19 mts 62 cms by 2

3. Multiply 22 mts 56 cms by 5

4 Multiply 29 mts 44 cms by 2
Somequestions:
1. Oneroll of cloth contains 25 mts 45 cms cloth. How many metres will be therein

eight suchrolls?

2. Prachi has 42 mts 70 cmsrope for making flag .Nishahas 38 mtr 85 cmsrope. Tell
what isthetotal length of therope both have?

3. Rekha hasto tie 8 ropes in her room. If the length of the room is 4 metre 16 cm,
then what isthe minimum length of rope shewill require?

4. One shopkeeper sells 18 mts 50 cms of cloth from aroll of 32 mts 46 cms. Tell
how much clothwill remain with him?

5. To make amosquito net 5 mts 75 cms cloth is required. How much cloth will be
required to make 20 mosquito nets?

6. 15 pipesare needed for tap connection to ahouse. If length of each pipeis5 mts95
cms. Tell the distance of the house from main pipe?

Weight

Take one kilogram weight in your hand. Now fedl its weight. Now find out some
itemsfrom your neighbourhood which weighs 1 kilogram.

Writethe namesof the itemswhich weigh equal to theweight givenin thefollowing
table:




Measurement

Weight Names of items
1 kilogram
500 gms
200 gms
100 gms one apple
| 50gms 2 lemons )

Names of someitemsare given below. First guessand tell their weight. Then weigh these
itemsin aweighing machine and write their actual weight infront of theitems:

[ Nameof item Weight by guess Actual weight
(inKilogramor gram) (inKilogramor gram)
Mathsbook
Duster
Bell
Lock
Sate
A box of chalk |
1 Kilogram = 1000 gms
15Ki|ogram = 500 gms
17 Kilogram = 250 gms

Tell how much
5 Kilogram 250 gms 5250 gms
17 Kilogram 400 gms = —————
28 Kilogram 50 gms = ——————
35 Kilogram 850 gms = —————
45 Kilogram 800 gms = ——————
98 Kilogram 950 gms = —————
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Somemorequestions:

7300 gms = = —————— Kilogram —————— gms
18350 gms = —————— Kilogram —————— gms
17800 gms = —————— Kilogram —————— gms
35050 gms = —————— Kilogram ——————— gms
65000 gms = —————— Kilogram —————— gms

Example: Twobagsof paddy wereweighed. Inonebag it was 17 kgs 450 gmsand inthe
other it was 16 kgs 700 gms. If we mix the paddy of both the baskets then tell what isthe
total weight of the paddy ?

Kilogram gms

17 450
+ 16 700
33 1150

Total weight of the paddy = 33 Kilogram 1150 gms
= 33 Kilogram + 1000 gms+ 150 gms
= 33 Kilogram + 1 Kilogram+ 150 gms 1000 gram = 1 Kilogram

= 34 Kilogram 150 gms

Firg guessthe sum and then add properly and tell thetotal weight of thefollowing :

—

28 Kilograms250 gms & 19 Kilograms 850 gms
67 Kilograms 300 gms & 25 Kilograms 800 gms
9 Kilograms 650 gms & 26 Kilograms 750 gms
34 Kilograms 900 gms & 17 Kilograms 350 gms
52 Kilograms 250 gms & 33 Kilograms 700 gms

o~ N

What isthe difference between your guess and the addition done by you ?
Example: One shopkeeper purchased 80 kgs 950 gms of rice. Out of this he sold 46 kg

750 gms of rice. Tell how much quantity of riceisleft with him.

Kilogram gms

80 950
— 46 750
34 200
FEoN
(58)
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First guess, then by subtracting tell how much isleft :

—

32 Kilogram 650 gmsfrom 68 kilograms 700 gms.
56 Kilogram 200 gmsfrom 175 kilograms 450 gms.
85 Kilogram 500 gmsfrom 337 kilograms 500 gms.
25 Kilogram from 85 Kilogram.

115 Kilogram 100 gmsfrom 228 Kilogram 350 gms.

o~ N

What isthe difference between your guess and the subtraction done by you ?

Example: A packet contains 1 kg 200 gms toffees. What is the weight of 7 such
packets.

Kilogram  gms

1 200 = 7 Kilogram + 1400 gms
X7 = 7 Kilogram + 1000 gms + 400 gms
7 1400 = 8 Kilogram + 400 gms
How much :

1. 8 kgs 500 gms multiplied by 7
4 kgs 600 gms multiplied by 2
12 kgs 300 gms multiplied by 3
20 kgs 200 gms multiplied by 4

A sack contains 47 kgs 500 gmsof rice. Tell, how much quantity of ricewill bethere
in 12 sacks?

o k& 0D

o

Weight of abiscuit packet is50 gms. What will be the weight of 50 packets?

7. Weight of a basket of orangesis 12 kgs 650 gms. What will be the weight of 7
baskets of oranges?

8. 25 kgs 800 gms potatoes and 28 kgs 700 gms tomatoes are grown in Rahul’s field.
Find the total weight of the vegetables.

9. Rekhawent to market with 15 kgs 250 gms groundnut. She sold 12 kgs 750 gms of
groundnuts during the whole day. Tell how much groundnut isleft with her.

10.  Rehanafilled 2 kg 800 gmsof cottoninaquilt and 4 kg 500 gmsin amattress. What
wasthetotal quantity of cotton filled in quilt and mattress?

oSy
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Capacity

In the previous class you filled a 1 litre container with 500ml, 200ml, 100ml,

measuring cans of water. Do it once more.

Container of 1 litre

How many 500 ml canscanfill the 1 litrecontainer? ................ times
How many 200 ml canscanfill the 1 litrecontainer?  ................. times
How many 100 ml canscanfill the 1 litrecontainer? ................. times

Can you tell, how much water can be there in a container of 1 litre? Now tell us 1
litre equalsto how many millilitres?

In the morning Ramu’s mother was doing her work. Then the milkman came. Ramu’s

mother told Ramu to bring one container and take two litres of milk. As soon as Ramu
went to the milkman the milkman said “Son it will not contain two litres of milk”. Tell
why the milkman told this t0 RamMU? ...

Let'sfind it

Collect theitems given bel ow with the help of your friends

buckets, jug, glassand cup.

Guess- How much of water will bucket, jug, glassand cup contain ?
Write your guessin thetable given below:

|

( Item Capacity (by guess) Capacity Difference |
(by measuring)
Bucket
Jug
Glass
Cup

Now fill water in these containers by measuring pots.How much water
does each container have?
Writein thetable.

Find out what isthedifference
between your guessand

actual measurement.




How to measur e?

Measurement

| am not getting the e,
container of half litre. .~

ke __\"—-_.ﬂ"' Please give half

-' easegivefive
timeswith a
container of

100 ml

i a 200 ml container
& Iand oncewith a100s
*. ml container.

litre milk _p——

)

[ Measurement 1litre |500ml |[200ml |[200ml | 50ml
1. 800 ml water 0 1 1 1 0
2. 250 ml milk
3. 950 ml oil

4. 50 ml medicine

5. 3 1tr 650ml diesel

| 6.7 [tr 150 ml petrol

Tally your tablewith your friendstable

Fill in theblankswith litre and millilitres:

1.

2.
3.
4

200............... of medicine is there in a medicine bottle.
1o, of kerosine oil is there in stove.
500......cccnenne. of kerosine oil is there in lamp.

25, i of diesel is there in tractor tank.

P
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Example: Convert 3 litre into millilitre Example: Convert 51trs250 ml into
3 litres= 1 litre + 1 litre + 1 litre millilitres
= 1000 millilitre + 1000 millilitre + = 5 litres + 250 millilitre
1000 millilitre = 5 X 1000 millilitre +
= 1000 X 3 millilitre 250 millilitre
= 3000 millilitre = 5000 millilitre + 250 millilitre
= 5250 millilitre
Exercise:
Some units of litre are given below . Convert them into millilitre
1. 6 litres 2. 8 litres 3. 2 litres300 millilitre
4. 3 litres 50 millilitre 5. 7 litres 6. 5 litres 425 millilitre

Conversion of millilitre into litre

Example: Convert 2000 ml into litres Example: Convert 4430ml into litres
2000 millilitre= 1000 millilitre +
1000 millilitre 4430 millilitre = 4000 millilitre +
= 1 litrest+ 1 litres 430 millilitre
= 2 litres = 4 litres+ 430 millilitre

= 4 litres 430 millilitre
Convert thefollowings:-

1. 2350 millilitre 2. 7800 millilitre 3. 9650 millilitre
4. 4270 millilitre 5. 3020 millilitre 6. 1030 millilitre

Example: Rambharose takes out 9 Itr 550 ml kerosene oil on thefirst day and 7 Itrs
250 ml on the second day from a drum.What is the total quantity of kerosin oil he

took out ?
litres millilitres
9 550
+ 7 250

16 litres 800 millilitres




Measurement

Example: Mukesh purchased 10 Itrs 500 ml of diesel. He poured 6 Itrs 200 ml of
diesel in histractor. Tell how much diesel isleft with him ?

litres millilitres
10 500
— 6 200

4 litres 300 millilitres

Example: A glass can contain 250 millilitres of milk.Tell how much milk can be
therein 7 glasses.?

Milkin7glasses = 250ml X 7
= 1750 millilitres
= 1 litres 750 millilitres

Exercise:

1. Thereisabuffalo and acow in Salmashouse. The buffalo gives6 litres 550 ml and
the cow gives5 litresand 325 ml of milk. Tell how much quantity of milk istherein
Samashouse ?

2. A barrel contains 13 litres 800 ml of oil. Out of this6 Itrs 900 ml is sold. Tell how
much oil isleft in the barrel ?

3. If abottleisfilled withwater by a10 ml spoon it takes 20 spoonsto fill the bottle
. What is the capacity of the bottle ?

4. Raju drinks 250 millilitres milk everyday and Mina drinks 150 ml milk everyday.
How much milk will they drink in fivedays?

5. Which quantity isgreater between 9 Itrs 500 ml and 9850 ml by how much more ?




Unit 7

Look at the picturesand tell thetime:

|||||
= "

.
:::::::

Draw the needle of the clocksfor the given time

ey, SEETS “\\llu,,' “\\Illl,l'
C“‘H 12 1 /,/{ C\"l"l 12 ]:,(’ \\\\ 1 12 b z,,’ N 12 T
10 2% "0 o £10 2\ 10 2\
9 . 3 9 . 3 g9 . K} | 9 . 3z
.8 47 8 4/ =8 48 8 47
4 ;1?..\‘5“\ 4 6\\\5‘\\ U 60‘5‘\\ 4 ll?l\ R

30 minutespast 15 minutespast 11 O’ clock

20 minutes past
5 O’clock 4 0O’ clock

4 O’ clock

Thehoursneedleisdrawn in the clock. You draw the minute needle

T,

/1 12 TN\ 11 121 11 1275 11 12
10 \ 10 2\ s10 10 2\
boe ) 6 '@ o b
X: 44 %8 45 %8 44 X 44

N6 6, N N 6.

fhppany?

10 minutes past 30 minutes past 45 minutespast | | 12 O’clock
10 O’clock 11 O’clock 4 O’clock

(64)
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TIME

Itis Itis
going to going to
be 10 be 10
O’clock. O’clock.
Don’t We will
you have play kho
to go to khoin
school. the

recess.
Itis Ohitis
already 3 already 6
O’clock. O’clock. I
7th have
period has not gone
not to play till
started NOW.
yet.

Eating food

Offering prayer in school

{ GE)
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Playing in the evening In taking bath

How much time do you take to do these activities ?

By guess Actual
Timetaken in eating food
Timetakenin offering prayer
Playing intheevening
Intaking bath
In wearing your shoes
Put a (v) sign on the time which ismore W i @
2 hours & 30 minutes 170 minutes -j““ s i, " >
70 minutes 1 hour 1' r%%?% t:J_ 3 ,_j B l%}
5 hours & 25 minutes 350 minutes - "™ - Eﬂ
1 hour 40 minutes 140 minutes - .

Change and write

2 hours = 120 minutes

lhour & 10 minutes= ———

= 90 minutes

(6E)
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TIME

Thereare severa waysto tell thetimewhich are different from theseways. You can
see oneway on the board.

T PHARMACY +

———— + PHARMACY +

Time to meet the Doctor 'l' -
Lk ]
e 8:00 am to 11:00 am a ‘- i
5:00 pm to 8:00 pm i li -
— i —y - n g =
=

e, = T ]

Do you know the meaning of amand pm

L ets See.

1. 12 O’clock in the daytime afternoon or noon
2. 12 O’clock in the afternoon to 12 O’clock in the midnight pm

3. 12 O’ clock in the midnight midnight

4 12 O’clock in the midnight to 12 O’clock in the afternoon am

am. iscaled antemeridiemand

p.m. iscalled post meridiem.

Writethetimein am and pm

5:30 in the morning = 5.30am
6.15intheevening = 6.15 pm
10.00 at night =
8.45inthe morning = e
4.00intheevening = 4.00.........

11 inthe morning = .
8.30intheevening = e

2.30 in the afternoon = 230 ......

11.15at night = e
See and under stand:
Football match started at 9.00 am A train startsfrom Raigarh at
Andendsat 11.00 am 6.00 PM and reaches Raipur in
Tell how much timeit took to complete 5 hours. At what timethe
the match? train reaches Raipur ?
From 9.00AM to 11.00am From 6.00AM + 5 hours
=11.00-9.00 =2 hours 6.0+5.00 = 11.00AM

Therefore it took 2 hours to complete the match Thereforethetrain reachesRaipur At 11.00AM

{67)
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Arethesewatcheslike your watch?
Can time be known (seen) from these?

Watcheslikethses areknown as 24 hour swatches.

Time accor ding to you watch Time according to 24 hour watch
(12- hourswatch)

1: 00 o'clock in the afternoon 13: 00 o'clock

P: 00 o'clock in the afternoon 14: 00 o'clock

3: 30 o'clock in the afternoon 15: 30 o'clock

6: 00 o'clock inthe evening 18: 00 o'clock

O: 00 o'clock at night 21: 00 o'clock

Now answer -
Time according to Time according to 24 hour watch

(12- hour swatch)

1: 30 o'clock intheafternoon | e
3: 00 o'clock intheafternoon | e
b:450'clock intheevening | e
7:000'clock intheevening | e
10: 00 o'clock at night |
12: 00 0'clock at night | e

(62)
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TIME

Practice

1. Nehasschool startsat 7.00 am and getsover at 11.00 am. Tell for how much timethe
school runs?

2. A bus startsfrom Ambikapur at 4.00 am and reaches Jashpur in 7 hours. Tell at what
time the bus reaches Jashpur ?

3. A dramastarts at 8.00 pm and ends at 11.00 pm . Tell for how much time did the
dramacontinue ?

4. Suniti startsher homework at 6.20 pm and completesit by 8.20 pm. Tell how much
time did Suniti takesto complete her homework ?

Thecalendar for themonth of January isgiven. January 2004
Please go through it and answer the questions Sun 4 11 18 2%
, ) Man £ 02 17
given below : S VR o
Vel 714 21 28
The § & 15 22 29
Fri 2 ¢ 16 22 30

Sat. 3 1@ 7 2¢ 3

1. In January 2009 which are the dates that come on Monday ?

2. Thefirst Sunday is on 4" January, what will be the date of second Sunday

3. Thethird Wednesday ison 21 th., January , then what wasthe date on second Wednesday ?

4. In this month which day comesfour times ?
5. In thismonth which day comesfivetimes?
6. In this month which day comesthreetimes ?
7. In this month which day comes six times?
8. Can any day come 3 or 6 timesinamonth ?

{60
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P8R 2007

7 14
8 15
9 16
10 17
18
12 19
13 20

294994349

8 15
9 16
10 17
18
12 19
13 20
14 21

2999349

29499349

W A WN -~
-~
S
-~
N
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TIME

See the calender and say
1. Which are the monthswhich have thirty days?

2. Which are the monthswhich havethirty-one days ?

3. How many daysaretherein February ?

Tally themonthsin year 2006 with the monthsin year 2007 from the calendars.
In 2006 , the months which have 30 days, in 2007 do they have 30 days.

Doesthe months having 31 daysin 2006 have the same daysin 2007 ?

Now tell these also:

1. In Dussehrathe holidaysweregivenon 17, 18 and 19. Tell how many holidayswere
given
2. In Chandu’s school Annual Sports was held from 10" January to 14" January. Write

the dates on which sportswere held. Tell for how many daysthe sportswasheld ?

3. Half yearly exams was from 8" December to 12" December. Tell for how many
dayswerethe exams conducted?

4. In school the preparations for cultural programmes was from 21% January to 25"
January. Tell for how many days did the preparations go on.

71
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Unit 8

GEOMETRY

Surface

Collect theitems givenin the picture.
Roll all theseitems on the table one by one

Namearetheitemswhichrolled

Name aretheitemsthat didn't roll
Can the books be kept one above the other? Try and see.

Can the dice be kept on a book? Can a marble be kept on a
ball? Try and see.

Canyou placeaball onaball?Try and see.
Canamarblebekept onaball? Try and see.
Canyou tell why thishappens?

Now feel with your hand the
surface of the book, dice and
ball. The surface of the book and dice isflat that's why we
can keep them one on the other and we can't rall it. Thistype
of surfaceisknown as plain surface.

Thesurface of theball isround. That iswhy we can not keep
them one above the other. Thiscanroll of. Thistype of sur-
faceiscaled spherical or round surface.

755\
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GEOMETRY

Oneglanceon theglass

'E‘1

Takeoneglass. Keep it asshown in thefigure. /__,L E E rré _“"‘*-\
l-\\--*_,___ __'___-j'
Roll it and see.. ——

Which arethe kinds of surfacesinaglass?

Write name of threeitemswhich have both plain surface and spherical surface.

Some items are drawn in the table given below. What are the surfaces in
these. Write the name of the surfaces.
[tems surface

Think and tell whichisthe biggest surface.

Let usmakeadice.

1. Cut Six square pieces ] ? '
from adrawing sheet 2
2. Take one of the *""
piecesandfoldit at the
centre. -

o
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GEOMETRY

3 ) 3. Open it , you 1| g
: will get a mark at Ll b 12
II h 9 " 4. Now fold the edgesin . B
1 € centre. suchaway sothat boththe \
', edges remain close to .l
: _— each other. kh_"l
5. Fold upper portion of left 6
side and the lower portion of | «
right side 6. Now fold the
../ right edgeasshown
5 inthefigure.
8
7. Now fold the '
left side as
shown in the §. 'Pr&ss thg folded edges
figure. manle Inthlsway fold to-
[ tal six pieces
10
9. Jointhepieces
according to the
diagram -
7

10. Inthismanner’
your diceisready

Can you tell how many surfaces are therein the dice made by you ? .........cccoovveeeaeee
Upto which number that can be written on its surface starting from 1 ?...........cccccocoveeeneee.

Writeonein any surface of thediceand write 6 just at the back of it. Inthe sasmeway
write 5 at the back of 2 and 4 at the back of 4.

Now thediceisready for your game.

Now you makethings made up of clay and paper inwhichthereisonly plainsurface, in
whichthereisonly spherical surfaceand inwhich both spherical and plain surfacesarethere.
(72)
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GEOMETRY

LINE & LINE SEGMENT

Point
Take one sharp pencil, now put a mark on a page of
the copy. Look at it. Thismark isknown asapoint. Sharper
the pencil the more accurate would be the mark (the point).

L ine Segment

Draw two pointsin your copy with apencil. Write their namesA and B. Join them
with the help of ascale.

A Line Segment B

Thisisalinesegment. Thisiscalled line segment AB.

. : : il i’.’ o
Measur e the line segment in thisway [
Draw aline segment of 5cm. /’ l,s. S
According to thefigure keep the scale on the paper. Now TR/
draw apoint at zerowith pencil. Draw thesecond pointat5em /%Ly \I |
mark on scale. Join both the pointswith the help of ascale. = J

Removethescale. Thisisaline segment of 5cm. il
Now Construct line segments of following lengths
1. 6 cm 2. 8 cm 3. 7 cm

4. 2 cm 5. 4 cm 6. 5 cm

If [ine segment isdrawn on paper how will you measurethat line segment ?

A B
Letsmeasurethislinesegment AB. Placethe scaleand the
line segment AB in such away that zero of the scaleliesat
A
Now let usfind where B lieson the scale ? Read the mark
of thescaleagainst B ?

Therefore the length of line segment A B =

o
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GEOMETRY

Excersise
Find the length of the line segments given below and write them:
1. P Q 2. X Y
3. A B 4. X Y
5. A B 6. M N
Line

A Linesegmentisgiven below
A B

If we extend one side of the line segment to infinity then we get the shape of

aray.
A B "

A Bisaray

Cantheother end of theray extend upto infinity? g

Extension of line segment, to infinity, on both -“.“_‘_ T- /‘%‘h
sidesisc¢alled line. ' :

A B ”
A Bisaline

Thearrow mark on both sidesindicateitsinfinite
extension.

Linesegment isapart of line

ANGLE

Given below arefigures made out of match sticks. You can also make similar figures
with the help of match sticks.

|~ Z T\

o
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GEOMETRY

All thefigures made by you depict angles.

Now tell

How many match sticks were required for onefigure ........................
Do the match sticks meet at some point? If we imagine amatch sticksasaray we
can say:

Two rays arising from one point form an angle.

Observetheitemsaround you and tell where you find angular objects.

Thediagram below hassomeangles. Recognisetheseand mark them with apencil.

T F o

Anglein awatch

Observe the small and big hands of the watch. The hands of the clock
also make an angle.

By changing the position of the hands of the watch the angles also change.

Somefigures of watch are given below. Change the position of the hands and make
different types of angles.

Pr==an,
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GEOMETRY

Angle with a nail

Insert anail intheground. Takea
long thread and tie it to the nail - }_.-'
in amanner that it has sufficient —._ﬁ. d : -r-.:'
length on both the sdes. Now hold ! =
both the ends of the thread and = &
stretch it. Keep the thread
stretched.

Observe minutely: does the piece of thread form an angle?

Canyou makeit small or big ? How will you makethe smallest angle ? How will you
makethebiggest angle ?

Observe the angle in objects around you such as books, black board wall etc. The
figureswhichhave L_ shapeare called rightangle.

Sometimesthe hands of the watch also form rightangle.
Seethewatch and tell at what time the hands of the watch form right angles.

Now take apiece of paper andfoldit as shown.

I
I
I
I — — —— —+——
I
I
I

Onfolding for the On folding for the On Opening
first time second time

Now openit. You will find that two lines are formed on the paper. They intersect at
onepoint. Anangleisformed at thispoint. There arefour equal angles, onthe paper. All the
anglesare called right angles.

See whether the same type of angles are formed on the four corners of the paper.

Pe=re
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GEOMETRY

From the below given angles mark the angles which areright angle.

Takeasquare piece of paper or hard board. (Each angle of the squareisaright angle)
Compare with the figures given below. The angles which are smaller than corner of the
pieceput ‘X’ mark over them. The angle which are bigger than corner of piece put ‘v

mark over them.

Theangle on which you had put X mark are acute angles. And the anglesonwhich
you have put ./ mark they are called obtuse angle.

Angleswhich are greater than right angle are called Obtuse angles
and the angleswhich are smaller than right angle are called acute angles.

A4

) o
/

¥L —

A\
-

Pe==c
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GEOMETRY

Circle

Takeacircular coin. Keep it on apage of your copy and draw
an outline of it. Now remove the coin and see the drawn shape.
Can you make this type of shape from other object ? Write their

PV =

pllF ) Now take any
twoitemsand
draw thistype of shape. Let usnow draw i - ; -
this type of figure in the field. Take a , SR :
nail, astick and a rope in the ground. T Ao

then tie (fasten) the nail with one end — 3
of the rope and fasten the other end of -

theropeat themiddle of the stick. Now
draw anout line of thenail withthehelp
of stick. Be careful while drawing the
out-line make sure that the rope is
stretehed. What type of shapeyou get ?

The out-line you get from the coin and

the out line you get from drawing a

figure by stretching a rope attached to the nail is called a
circle:

ll‘l*?ﬂ
=
1

In the same way you can draw circle by using compass
(rounder)

Open a page of your copy keep the compass on the
page as shown in the figure. Fix its pointed side at a place &
and movethe pencil around it. ' N
e i

Come lets now know some facts about circle. F

While drawing a circle where
you placed the pointer of the compass that point is caled the
centre.

Inthefigure'A' isthe centre of thecircle.

The line segment that join centre with any point of the circleis
caledradius. In thqgiven figureA B istheradius of thecircle.
(80)




GEOMETRY

Theline segment that joinstwo points on the circlewhich passed through the centre of the
circleis called diameter.

Line segment P Q isthe diameter of the circle.

Give answer :

Just now you have drawn acircle by fixing anail and rope. Where isthe centre of
that circle ? Draw one radius of that circle measure it. In same way draw a diameter and
measure it al so.

Draw Circle

Tieachalk on both endsof thethread.

Fix achalk on the blackboard with your left hand.

Now draw alinewith your write hand.

Be careful that the thread should be stretched.

What shape do you get on the black board ? Write the names of the parts.

Make circles of different radic now do this-

Takeout scale, rounder and pencil from you compassbox. Now insert the pencil inthe
rounder. Level thetip of the pencil and the rounder on the notebook.

Now make the distance of 5 c.m. between tip of the pencil and pointed end of the
rounder using the c.m. side of the scale.

Al Tl el sl el e el el kgl d el Casl wel arl 18 el ael 24l 22l 23l 24 28 ze adl 2el ael sl
SCALE
.flLllllllll|.|.|lhl||dl]lll.l-l‘l]ill|-||-|.l.l|]ﬁ|I|J-|J.||l|m-l|l|;l|||||l|‘l‘l||-||l||l|i||?l|i||I||-||I||ﬁ-||I|JI||.l|lﬁ|l-l|.||l|l||.tl|]||-l|-|1hJﬁ-l|l||i||.||||L|.||l|]l|]||.

Now draw acircle on your notebook revolving the rounder.
Now measure theradies of the circleand writeit.

PR
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GEOMETRY

Exercise:

1.

4.
5.
6.

Write names of the partsin given figure —

Find out (identify) the centre of the circlein given figure.

)& @

| dentify the diameter inthe given figures.

b @ D

Draw acercle of radius 7 cm.
Draw acercle of radius 3 cm.

Draw acercle of radius 10 cm.

Making Cubes, cuboids-

Objects like bricks, chalk boxes, tooth paste boxes etc have cuboids shapes they have 6
rectangul er faces.

Takeachalk box / tootpaste box. Cut it and open asshowninthegivenfigure. You will get
anet by opening it.

()
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GEOMETRY

There could be other waysof cutting and opening thisbox. One of thewaysisgiven hereas
anexample-

You find some other way and draw itsnet in your notebook.

Now take a drawing sheet and cut it
according to the diagram. Now fold and makea
box out of it. Areall thefacesequal and square
objectslikethisof having six square phasesare
cubesin shapes. For is- dice.

Make cubesfrom the given net -

All the boxes or the objects are not necessarily cubes or cuboids in shapes.Make
cubesfrom the given net -

All the boxes or the objects are not necessarily cubes or cuboidsin shapes.

e
(83)




Unit 9

PERIMETER

Deepa's mother is stiching on four sides of a handkerchief. By looking at the picturetell
how much more stitching she hasto do.

10 Cm.

10 Cm.

10 Cm.
How much stitching does she haveto do? How will you find out ?

Meeta has planted flowering
plantsin her courtyard . To saveit from
animals she wants to make a wire
fencing on all four sides.

Canyoutell thelength of thewire
Meetaneedsto makethe boundary. How
will you find out ?

~~  Monurunsonthefield daily. Tell how
" » much Monu hasto run to take a compl ete

- round of thefield ?
=
- < If hetakes 10 rounds of thefield how
S - muchdistance hewill cover ?
— -~ T, 4
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PERIMETER

In thefigure given below, some shapes are made by thread. The distance between the
horizontal and vertical nailsis 1 cm.. Now count and tell what length of thread will be
required to make the shapes.

rres v g tvw |
® E |
||F + i*!
iffi!‘i’f"

| » TI}ETT“I‘

'i:‘“' T row |
[T T 7 -muny ¥

I'T'IFN'T‘I‘"I_:"_H_'T'T

T F YT TNEY T Ry ¥

"3'_!_ e ;'t,_

Like the length of the threads needed for thefirst shapeis:
2cm+ 2cm + 2cm+2cm = 8 cm

Draw such shapes on the board. Calculate the length of pieces of thread to make
these shapes.

The length of the thread needed to make the shapesin
thefigureisthe perimeter of thefigure.

Perimeter of date

What isthe perimeter of your date ?

To know this, keep the slate on the ground and
draw its shape on the floor. Now remove the slate and

fix nailson all thefour sides.

Starting from one nail, take the thread to the
second nail, then third, then fourth and again bring it back
to the first nail.

35
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Mathematics - 4

Make a mark on the point where the thread comes back to the first nail and by

stretching the thread measureitslength. Thelength of thethread isthe perimeter of your date.

things given below:
1.
2.
3.

Perimeter of arectangle

o & 0N~

In this way find out the perimeter of the

Matchbox
Your book

Compassbox

Now with a measuring tape used by atailor , find our the perimeter of the
following :

your wrist

Bangle

Ringbdll

your friend's head
bottom of abottle

Till now you havefound out the perimeter of many things. Now lets seehow we can

wefind out the perimeter of any shape without using athread.

What is the perimeter of thisrectangle ?
4cm

2 cm
woc

4 cm

Place apiece of thread onitsfour sides. The required length of the thread would be

dcm+2cm+4cm+2cm = 12cm
Now we can say the perimeter of the given rectangle= 12 cm

Now say what we have doneto find out the perimeter of thisrectangle

(S6)
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PERIMETER

Find the perimeters of figures given below:

4Cm
2cm
5 ; 5 E
2cm
4 cm
@
I3 E}
™
3cm
2cm
: E
3cm -~ 3cm
5 E
8cm

Measur e the sides of the figureswith a scale and find the perimeters.




Mathematics - 4

Find Out

1. You have to do fencing on the four sides of your class. What will be the length of
rope required to make the fencing. Measure and tell.

Do it and see

—

Find out the perimeter of the kabaddi ground ?

Find out the perimeter of the kho kho ground ?

Can you tell the distance covered by acyclewheel in onerevolution ?
Collect someitems from your surrounding and find out its perimeter

The picture of the courtyard of my houseis given below. There are 15 stonesin it.
Each stoneis 1 metrelong and 1 metre broad.

A

You haveto find out what isthe perimeter of the courtyard ?
Find out the area of the courtyard also .

(39
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Unit 10

One day the teacher came with some packetsto the class and told Raju to arrangethemon
the table but ensure that no packets are kept on top of one another.

Raju saw that al the packetswere dike. He started arranging the packetsbut after arranging
12 packets the surface of the table was totally covered.

Thus we can say that surface of the table = surface of 12 packets

Now tell :

. Why Raju was not able to

arrange all the packets on the ’

table?

. If the packets would have been
smdler then could haveRgu ar-
ranged morethan 12 packets?

. I the packetswould have been T ,?-[ e
larger , then what would have @T= 8

happened ?

M easur ement by matchbox:

Collect empty match boxes. Arrange these
boxes on the surface of your book

How many boxeswerearranged ? ——————
It means surface of book = ———— Surface of
boxes

30
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AREA

If you have only one match box then can you measure
the surface of your book? How will you measure?
Measureand see.

In the first example the table was = the surface of the
12 packets.

In this way the surface of the book =....................
surface of match boxes.

The surface covered by any shape is called
its surface area.

Likein thefirst example the surface area of the table is equal to the surface
area of the 12 packets

M easure the surface of theitems given below according to theinstructions:

[ ltems M easur e by what M easur e of surface ]
1. Surfaceof table Book ———— Book
2. Book Match Box
3.  Exercise Book Match box
4.  Caendars/ chart Page of the copy
5.  Upper surfaceof box| Copy

Compare your measurements with your friend's measurements. Did you find any
difference ? Think and answer. Why and how did thishappen ?

M easur ement with bangles
Y ou have seen arranging the matchboxes on the book.
Now you try to arrange the bangles on the book.
. How many bangles are arranged ? ..........cccooeveeevvereencene.

. Isthe surfaceof the book covered completely by bangles?




AREA

. Wasthere any blank space while arranging the match boxes on the surface of the book

. Can bangle like shapesbe used in measuring the area?

Let's count the boxes and find out the area.

1. Inthisfigure thereare 8 boxeslikethis or (Lcmlength
& 1 cm breadth)

Thusthe area of thisfigure = 8 boxes

Tell the area of these figuresin terms of small squares:

1. 2.

Canyou tell theareaof thefigure given below by counting
the boxes?

Isthereany problem ? Tell how can you find out the area
of it ? If you cannot understand then take the help of your
teacher.

o)
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AREA

What isthe area of thistriangle ?

Colour the boxes green which cover less
than half theareain thetriangle.

Now fill bluecolour intheremaining boxes "~
inthetriangle.

The maximum portion inside the triangle
isfilled with blue colour, so we can say the area
of the triangle is aimost equal to the number of
blue boxes.

Areaoftriangle=.................oeeeies boxes

When wemeasurethearea by counting boxes, then we do not count theboxeswhich
cover lessthan half thearea. We count the remaining boxes..

Now you tell thearea by filling colours.

PARENSRNERELG 7S
Dol

Area of aleaf

Collect some leaves. Keep the leaves on the grid drawn on the book and draw its
outline. Now tell the area of each leaf by counting the boxes.

[ L eaf Mango Peepal Palash ]

o |

(90
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AREA

Can you find out the area of your palm. Use the boxes given above. Collect
some items accor ding to your wish and also find out there areas.




Unit 11

You havelearnt achapter on money inclass- 3. You madealot of coinsand noteswith
your friends
Answer

How many 50 paise coinswill you get for T 1

How many 25 paise coinswill you get for ¥ 1

You saw that for < 1 you get 2 coins of 50 paisei. e. (that is)
50 p. +50p. =100 p.

For < 1 you get 4 coins of 25 paisei. e.
25p.+25p.+25p. +25p. =100p.

You haveknown that

100 p. = 1%

or

1% =100 p.

Now answer

How many coins of 50 paise ?

IR = e, coins
2% = s coins
3=, coins
4 = e, coins
53 = s coins
B = s coins



MONEY

How many coins of 25 paise ?

1R = s coins
23 = e, coins
3=, coins
4 = e, coins
53 = e coins
B = e, coins
A ST coins

Fill in the blanks -

25 p + 50p + 50p = e, e p
23 +53 +20p + 20p = S R e p
10p+10p+ 103 + 23 + 50p C R e p
103 +53+23+25p+50p+25p=........... e, p
10p+20p+25p+50p = S S p
53+103 +10% = e, R e p
103 +50% +50% R R e p
20p+20p+50p+3% = e, R s p

13 +23+5p+50p = s R e p

Think and answer (oral)

1.  Samirwantstobuy apen. Thecost of thepenisZ 5. How many 50 p coin will samir
haveto give?

2. Suman has 8 coinsof 25 p. She hasto buy a chocolate of wich costr ¥ 1 each. How
many coinswill she give to the shopkeeper ?

3. Gulshan bought an earaser which costs 50 p. each. She gave F 10 coin. How much
amount will the shop keeper return ?

{95)
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4. How many F 2 coinscanweget for F 10.

5. A ball costs F 12 . shourya has F 5. How many more rupees does he need to buy a
ball.

6. Sonu hasthree5 F note and one 10 ¥ note. How many rupees need to be added to
makeit ¥ 30 ?

7. Raahas3coinsof 50 p Gauri has5 coins 25 p and karan has4 coins of 20 p. If we add
them how much amount will there be?

8. A pencil costs ¥ 2.How much amount needsto be given to buy 7 pencils.

9.  Sagar has 10 coinsof 20 p. After spending 3 coins, how much amount in rupees and
paisewill beleft.

10. Carrot costs ¥ 30 per kg. How much money will you pay to buy half akg of carrot.

Letsknow this-

For T50.... notesof ¥ 10

For 100 ... notes of ¥ 50
For 100 .. notesof ¥ 10
For 500 ... notes of ¥ 100

For 500 e notes of ¥ 50



For
For
For
For
For

For

MONEY

notes of F 10
notes of F 10
notes of ¥ 500
notes of ¥ 100
notes of F 50
notes of F 10

(97
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Mathematics - 4

Unit 12
PICTORIAL REPRESENTATION

OF DATA

Hamida has a fruit shop. Today she sold Ll— i
many fruitsduring theday time. Somefruitswere . “ )
T_ir

left with her. We have drawn these remaining

fruitsinthetable given below:

Remaining fruits Number
© 60 6 0 0 O

| ‘_36 .' \ ‘_36 j .: ,‘_36 \ ‘_36 \ ‘_36 .' \ ‘_36 ',.:'_;. .' & .' & .' & .' &

255550000

See the table and give the answer —
What isthe total number of remaining fruits ?
Which left over fruit is maximum in number ?
How many more guavas are there than oranges ?
Write two more questions which can be answered by seeing the table given above.

(99
\_9_8_/



PICTORIAL REPRESENTATION OF DATA

Your own liking
Find out the coloursliked by each student and compl ete the table given below

s N

Colour Name of student

Look at the table and give the answers—

How many studentslike blue colour ?

Which colour isliked by maximum number
of students ?
Which colour isliked more by the student,
red or green ?

Which colour isliked by minimum number
of students ?

Countingin lane

Sit outside your house
for 30 minutesand watch how
many men, women and
children come out while you
sit there. For each onedraw a Y
line ([) in front of their box in

the given table. Count them __;_-_ . ]’1_“' .
D or |

and writethetotal number of .
linesinthetable. e,




Mathematics - 4

(Who are the passers by draw lines total number of lines |

Men

Women
Boys
Girls

How many people passed from there ?
Boys were more or girls ?

You also form three such questions -
1.
2.

3.

How many students are on leave

How many students of class 1,2,3,4 and 5 are on leave . Find out and
writein thefollowing table. Thistimeyou use () to indicate each child.

Class Children on leave

Al WIN]|-~

5

Tell how many students of class 1 are absent. ?
You can make such questions and give thisto agroup to solve.

Till now you have collected different types of facts and arranged them
horizontaly (lefttoright) .

~

Fruits Liked by number of students
Guava
Banana
Orange
a0




PICTORIAL REPRESENTATION OF DATA

Now we can arrange them vertically from top to bottom [ ]

[]

] ]

[] []

] ] ]

[] [] []
Guava Banana Orange

Meena has drawn the figure

Mina was drawing figures. The number of pictures she made have been
represented by [ ] given below in the table.

[ Pictures|  No. of the Pictures
Anmals|[ [ [ ][ ][ ]
Toys |:||:||:|
Flowers| [ ][ 1] ][]
| Trees || || J[ [[ |

Now arrange these information in descending words.

4
=
O
<
S ]
2 ]
o
< ]
Pictures Animals Toys Trees
Tell how many drawings did Meena make ?
Who has made the highest number of drawings ”——— How many? ——
Which of the drawing are least in number?———— How many? —————

By how much isthe number of drawings of flowers are morethan the number
of drawing of animals ? —————

Which is more: drawings of trees or toys ?
(10D




Mathematics - 4
Measure of Wrist

Sit with your friends. Now cut a strip of paper equal to your wrist and stick
it onthe bold line given below -

M easurment of thewrist (in cm)

Also tell whose strip isbiggest, whose strip isthe smallest and whose strips
areequal.




PICTORIAL REPRESENTATION OF DATA

Some pictures of fruitsare given below -

Count thesimiler fruitsand complete thetable -

- 1O e

Count

Now colour no of boxes equal to no of shapes.

No of fruits

mango jamun guava apple
By colouring the boxes in this manners no of various shapes will be shown as
rectangular stripesfor each shapesabox of equal length will be shown and the width of all

thebarsisequal.
Thiskind of representation of information iscalled Bar Diagram

10
@O



Mathematics - 4

Unit 13

HOW DO THINGSLOOK ?

L ook carefully the following pictutres

|/'_\I
\g/.



HOW DO THINGS LOOK ?

Put atick mark

How wil the brick look from the top?

.y =

How wil the chair look from the frunt?

How wil the shoelook from the side?

&8 2

=
Ne)
%



Mathematics - 4

Now do it

Collect some objectslike chappals, duster, plate, compass, eraser, bowl etc. Now put
these objects one by one on thefloor and observetheir front view, top view and side view.
Try to maketheir figures.

How did the objectslook from the front view? Draw thefigures.

How did the objectslook from the top view? Draw thefigures.

How did the objectslook from the side view? Draw thefigures.

Isthisany object which looksthe same from all the sides?
(106




PATTERNS & RIDDLES

Unit 14
PATTERNS& RIDDLES

You must have seen tiles fixed on houses, footpaths, railway station, garden

etc. Inthisunit wewill seethe different arrangmentsof tiles.

Tiles of different shapes-

Tilesontherailway station

Tilesonthegarden

Tiles on the houses

Tileson the footpath

A
109




Mathematics - 4

Tiles of different shapes-




PATTERNS & RIDDLES

Thetilesarefixed on floor in such away that it cover the whole floor and no
empty spaceis|eft.

Now youfill thefloor withthegiventiels.

L] L] . L] [ ]

L] L] L] L] L]

[ ] L] L] L ] [ ]

. L] L ] . .

L ] [ ] L ] L ] [ ]

[ ] . L ] [ ] (]

p [ ] [ ] L] L] [ ] L] L] L ] L] L] L] L ] [ ]
L . ] L] L] [ L] .

L] L] L] L] L] L] L]

L] L] L] . . . L]

L] L] L] ] . L] [ ]

p ] L L] L] L) L] . . L] . . L] .
p . . L] L L L] L . L] . . - .
p ] L L] L] L] L] L) ] . L] . L] L]

=
gs)
&/




Mathematics - 4

Make tiles of your choice and color them.

b [ ] L] ] L] ] L] L]
4 L] L] L] L] L] L] L)
y L] L] L] L] L] L) L)
b L] L] L] L] L] L] .
4 L] L] L] L] L] L] L]
p L] L L] L] L] . .
p L] L L] L] ] L] .
d L] . L] . L] L] L]
p L] L] L] L] L] L) L]
p L] L] L] L] L] L] L]
4 L] . . L] L] L] L]
p L] L L L] . . .
) L] L] . L] ] . L]
p L] L] L L] L] . Ll




PATTERNS & RIDDLES

Make your own tiels -

Take a piece of thick paper. Make a square of 3 c.m.

Make a triangle on any of the sides of the square.

=
=
o/




Mathematics - 4

Make another triangle on the other side of the square with the same measurement.

Now cut it, your tileisready.

Kegp thistile on the drawing sheet, page and make an outlineusing apencil. Similerly
make one after the other keeping in view that no empty spaceisleft in between.

The patternwill look likethis-

=)
(E)
>



PATTERNS & RIDDLES

RIDDLES )

BN
I W

1. Make ashapewith 8 match sticksasshown in thefigure.
Now change the position of three matchsticksin such a ‘ ‘
manner that the direction of thefigureis reversed.

2. Changethe position of 3 circlesinsuch away that the
direction of thefigureisreversed.

3. How many squares arethere
inthefigure?

4. Tell the number of trianglesin each figure ?
5. 5 sguares are there. Changetheposition of any four [ | =5
sidesin such away so that they become 7 squares. \ ‘ |

=
LB
&Y



Mathematics - 4
6. Place 10 stonesin five columnsin such away that 4 stones arethere in each column.

In children's magazinessuch riddles are given. Solvethem. You can also makeriddles
and giveit to your friendsto solveit.

BRAIN EXERCISE
What will beinthelast box?

1.

" g || |

3 o:o ol e
o ool oSl ==l

.l = .
5.

6.

@ <O S
7. ® @
8. = - .
9 o & c@)
10/] =2 EH




OUR
Devanagari Numerals

Introduction and Exercises




<Our Numerals

Pihu's grandmother was doing some calculations on the table. Pihu looked her
calculation but couldn't understand it, they seem to be some new digit to Pihu. She

asked her grandmother about them.

@ )
9. Sugar 9Kg. 3% Rupees
R.  Potato 3IKg. & o Rupees
3. Onion R Kg. Q8 Rupees
8. Soap 9Pieces 9z, Rupees
¢. Oil 9 Litter % Rupees
&  Dal/Pulses 9/ RUKg. 3z Rupees
9. Salt R Packet R0 Rupees
g Total : Rz0 Rupees )

Grandmother said that these are also numerals, we learnt mathematics with
these numerals. Grandmother also showed Pihu a calendar with these numerals.

Pihu wanted to ask more about the numerals, but grandmother was busy for her

work. So, she told Pihu to asked more about them from her teacher.

Next day Pihu asked more about the numerals to her teacher in the class. Teacher

said —

“These are the numerals of Devanagari script.” These numerals are also used to

write numbers.

These digits are like 0, 1,2, 3,4, 5, 6,7, 8, & 9 which are just as to write numbers.

In Devanagari digits these are writtenas o, 9, R, 3, %, %, §, O c & &

K )



Numbers

In order to write numbers we make use of numerals such as 0, 1, 2, 3,..... These are
known as international numerals . We can also write numbers in the Devanagari
numerals. Let us see the numerals as they are written in both the scripts :

International numerals | 0 1 2 3 4 5 6 7 8 9

Devanagari numerals o 9 < 3 8 Y & O T | €

The following table has numbers written in figures and in words. Learn to
1dentify each number and read its name :

26 | R€ | B9 | 51 | 49 | TRET | 76 | g | B
27 |9 | TORE |52 | ¢ | FEW | 77 | vo | TEER
28 | ¢ | NWEA | 53 | ¥3 | [RuA | 78 | ©¢ | STEE
29 || TG | 54 | w8 | Daw | 79 | ve | SRR
30 |30| o9 |55(|%%| WO |80 [ co| oAl
31 [ 39| S [ 56 | & | B9 | 81 | <9 | SHE
32 |3R| @ |57 | 4O | TOET | 82 | < | TEME
33 | 33| qad | 58 | Yc | e | 83 | =3 | e
34 | 38| A9 |59 | ¥ | ITES | 84 | vy | Il

N | =
(o]

Cle|lgd|lan|ln|s|w
Ml | Glmirxc| < |w|v

%

&

Sl

R

qre

8.

qd

H[S

il
10| 90| =@ [35[3%| F= |60 |&o| ®o |85 |cy| T
11|99 | =RE |36 |3&| B9 | 61| &9 | B9 | 86 | <& | &I
2| R| T (3739 &9 |62 |&| Tme |87 | <o | T
13|93 O® |38 |3c| o= | 63 | &3 | RES | 88 | =z | FomI
14 | 98 | 3E | 39 | 3¢ |STENG | 64 | &3 | oGS | 89 | <& | @
15| 9% | @E [40 %0 =mE |65 |&e| T |90 [ €0 T=
16 | 9& | @R | 41 | 89 [3HaE | 66 | && | TS | 91 | €9 | THTA
17 99| @& |42 |8 T [ 67 |G| WSEE |92 [ €| a@
18 | 9t | 3BRE | 43 | 83 | ¥ | 68 | &= | e@C | 03 | €3 | Fwma
19| 9€ | S | 44 | 88 | AT | 69 | KE | STETW | 94 | €8 [ AR
20 | R0 | S |45 | 8% | UawiE | 79 [ 9o | TR | o5 | € | TEFE
21 | 9| T | 46 | & | ™I [ 71 | 99 | SHETR | 96 | €& | T
22 | R| TBA | 47 | 30 | Hawiw | 75 [ OR| Sew | o7 | €9 | W@
23 [ R3[| T2 | 48 | ¥ [SEAIE| 73 | O | B | 98 | €< | SACSd
24 | 8| AN | 49 | 85| ITEE | 74 | 98 | TEAX | 99 | €€ | MY
25 | RY| T=E |50 | 20| TE | 75 | 9% [ TEWX [ 199 |J00| W




Raju and Chanda are also trying to know

If we try to put one more
bead in the column of ones

it will not come on it
because only 9 beads can
be there.

There are nine beads
in the ones, tens and
hundreds column of the
abacus. In this way it
exhibits the number nine
hundred ninety nine. What
will happen if one bead is
increased in ones place.

Then we have to vacate the
ones columns, In
place of these ten beads and
put one bead in tens
column.

But already there are nine
beads in the tens column. So
vacate the tens column and in
place of these ten beads put one
bead in hundreds column.

Oh , but already
there are 9 beads
in hundreds
column. Now what
to do?

Now tell what will Raju and Chanda do?

o




Vacate the hundreds column and in place of these nine beads we have to put one bead
in next column. Thus we need a new column. This means a new place. This new place is
called thousands. Therefore in place of ten beads of hundreds we put one bead in thousands

column.
# -
(90 hundred = ?) (90 hundred = 9 housand)
—> Em—
H T o T G ThH T O

Now answer\

What will be the number if youadd 9with €E€7 ....oevviiiiiininininn..

Inthe same way\

9+9+9+9+9+9+9+9+ 9+ 9= 90

l.e.tenones = ... ten

90 + 90+ 90+ 90+ 90 + 90 + 90 + 90 + 90 + 90 = 900

l.e.tentens =............ hundreds
Inthe same way\
900 + 900 + 900 + 900 + 900 + 900 + 900 + 900 + 900 + 900 = 9000
Ten hundreds = thousands
Th HT O Th HT O Th HT O
3 9 %8R

Three thousand one hundred
forty two

e




Write the numbers in figures and words.

D 5 L L
R IR B8 i
B S
L+ SN six thousand nine hundred fifty

e 0T e e e,
Re vvviiiiiiins eight thousand six hundred two

O, nine hundred ninety

T, 300 0 it e et et e
T R 0T e
90, tiiiiiinn six thousand seven hundred sixty one

Circle on the correct number \

Three thousand seven hundred fifty nine VW& & 3tV 3%V¢g

Five thousand three hundred twenty ©?30% ¥R03 ¥3R0  YoR3
One thousand two 900% 9030 9200 9000
Six thousand ten goo9o  go9o g900 §o009

Two thousand three hundred sixty nine | R3I&E REE3I R3VE RI00&E

Four thousand two hundred ten goR90 890 809 ¥Yo9Ro




Match the columns

/

9. 9R3%

06 00

_|_
+

oJelelo

9000 |[+|R00 |+ (30 |[+| ¥

+
_|_

O®O00®

R.R830 =

3000[(+| 900 |+| 0 |H &

+
|
+
+
+

+
_I_
+

+
@
+
© O
I
:
:
;

Yooco |+|goo |[+| 0 |+ ©

+

olelolelelo

Match the columns\
9. ¥30% (&ooo+ o +
Q. 943 (9000 + 300 +
3. 8§03 8000 + 300 + o
8. 93%% (9000 + Yoo +
Y. ¥&09 (8000 + §oo +o + 3
&. ¥0&9 (&ooo + oo+ o +9

LA -.i
bt f@ = ey
b = N




Complete the series
9. 90U, st JIROE, i, 999, e,
R. 03,303,803, ceevrninnnnnn. RO e e
3. RIEE, e, ,RBO9, i R e

‘ Write the greater number\

Greaternumber How do you come to know?

9. %33%& and R3I3&

R. R93% and R9%Y

3. 9%R3 and 93R3

8. 38R and 3359




Find out the wrong statement and right statement. Correct
the wrong statement

Forexample: $3%§& > 893> 3£9% > R€E€E  (right)

9. 949y < ¥9%9 < §38% <993y )
Q. 9R3E < 90¥R < 9083 > Joy9 )
3. TEVE < V&g > V339> 43R ( )
8. ¥§09< §%90 T W38y <38 ) e,
G. BYE < YEBR > §OE > €383 ( )

Select any five numbers. Arrange them in descending order first and then in ascending
order using lesser than or greater than sign.

Without repeating the numbers read and write as many numbers
as youcan

9. Maketwo digitnumbers with 3 and Tandread -

ooooooooooooooooooooooooooooooooooooooooooooo

ooooooooooooooooooooooooooooooooooooooooooooo

ooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

ooooooooooooooo ) LIty +00 000Ny LI LL) see s sa ey
ooooooooooooooo ) LIttty +00 0000y LI LILILLLy ses sty
ooooooooooooooo ) I ILI LIt r ey $000 eI IIILNILe) LI ILIILILY) L LIy




.
<4ddition & Subtracti01>

Write numbers in the boxes as shown.\




Understand the pattern and proceed \

9+ 4+ 3=%§
8+ ¢+ & = 9%
O+ ¢+ €& = ¥

R+ 8+ & = 9%
T + 90 + 9% = 3o

In the same way you also make two patterns\




Number game\

Select any number from the table. Do calculation using other numbers from the table
to get the number you have selected :

( )
s3 | R | &RE | ¢ 9 | TY By selecting the number &%
you find the number in this way:
8| 8y g€ | 38 | e §0 + 8 = §3,
9% | 9% | 90 | 98 | ©3 | 3% U8 =S =
o ik GE - ¢ = &8
98 | & 9 RT | ¥R | 39

3c| 93| 9 |83 |8 |=go

k@ﬁ to| 3R |99 | &€ 30)
e Addnumbers the result of which will be 3%.

e Subtract numbers the result of which will be 3%.

Some answers are given below. Form questions from these numbers

- .
° Answeris 3% Ifthe answer is 9T, then the question may be as follows

« What will you getby adding € to € ?

« One basket carries € mangoes. How many mangoes

* Answeris 898

e Answeris 9 willbe there in such two baskets?
« Whatis the answerof R%-9?
* Answeris 9% « What is two times of € ?
T X R =
L J

Add and subtractin the following boxes

+ | V39| goY | &RIY - TT9 |Y0o0oY| §3TR
90| €%9 &93 &RIER

39 Ozo

goY 903

K-



A\

Addition of numbers having 3 digits

Example :

9 0 o X 9 mr >XNow (¥ XHOowW M
2
2 r o X o w oo X M o~ O O
o
2
3 o~ o o o~ ¥ 9 o~ ¥ o o~ o~ 9
+ + + + + + + +
o o v 2
v
w | O o > o Y |v o > o v (v > o M
e
=
A r@ || RN - @ vl @
N
e
o|E oo @ o o * N 9~ o
x
o~ + + + + + + £ + +
- h
Z @
< =
e




Solve these
9. ¥ 3Tk R. Y9 3 < 3. 3809 Y%

+ T 9§ + e 9% +3 &7l
g. & 3 8 & ¢. 38 3§ &. ¥ 9 T Y

+ R + 0 ¢ +3 %9 R
9. VR93 + %< T. 9999 + 99ttt t. %O9ct + 39IRR
90. B9¥Y + ¥3E3 99. &T& + 8§Vt 9. 99V + €3¢

The subtraction of 4 digit number \

Example: Substract &T%3 fromg3R9

T H T O
2 5% o
-& ©w Y 3
9 ¥ 09 b
Solvethese\
9. % o ¥ ¢ W 9 € ¢ 9 3. ¢ & 9 R
-2 9 ¢ ¥ - Y o3 - 3% o
8. 3 v & 3 Y. &R 3o &. R ¢ ocxg
- R Vo § -8 L9 -9 3 € R
9. %&¥3-9%% T. t&3%¥ - %099 €. %ooo-R%%o
90. 9999 - ¥RRR 99. 8888 - R9&Y 9. T900 - VLt

K-}



Addition & Subtraction\

9. Government Primary School Bijarbhantha got ¥3% Hindi books, ¥9R Maths books
and 138 books of English. How many total books the school got?

R. From two farms of papaya, plucked 3%% and X% % papayas respectively. Tell how

many more papayas were plucked from first farm than second farm?

3. 933 children go to school from higher colony and <'\9 from lower colony. How many

more kids go to school from higher colony as compared to lower colony?

8. 843, 33z and ¥t Y fishes were caught from a pond of Temari. How many fishes were
caughtinall?

%. Population of Shankarpur is ©T99&. If ¥R33 of them are men, then how many are

women?

&. A refrigerator costs TOTO rupees, meanwhile the same refrigerator costs 9§ €0

rupees in another shop. Tell the difference in the cost of fridge from the two shops?




See the picture and say who has spent how much money
to purchase things at the following price:

Harpal purchased cycle and T. V.
Dinesh purchased bat ball, radio and mobile.

Raju purchased bucket, mug, almirah and telephone.
Salma purchased hockey stick, radio and mobile.

—~~ N/~
— N — ~— ~—

Reeti purchased bucket, mug, radio and almirah.
If every person has Rs. 9,500 then what amount of money would be left with each
one?

Now tell

9. Who has spent more: Harpal or Dinesh ?
Who has spent more: Dinesh or Reeti ? By how much ?

What is the total amount spent by Raju and Salma both?

x W

How much less was spent by Salma than Harpal ?

Now you ask your friends about their favourite things and find out their cost.

Kt



< Multiplication >

Form question from the given answer\

9 It
€ X 3 R X g
R X 9 g X 3

3 X ¥

8T Ry

Game of tables (Tables game)

If you know the tables from one to ten then you can form tables beyond ten: Let us
develop table of 93 :-

Tableof 90 | 90 Ro | 30 | BoO Yo | go | Vo TO £o | 900
Table of 3 3 &1 € 9R | 9% | 9 | 9| W | W | 30
Tableof 93 | 93 | RRE& |3 | ¥R | &% | VW | €9 | 90% | 999 | 930

To form table of 93 first we wrote table of 90 and then table of 3 then added them and

we getthetableof 93,9 + & =93 what will happen if we add tables of O and & ?
Letus doand observe :

Table of \9 \ 98| R | R | 3¢ | ¥R | 8& | 4& | &3 | Yo
Table of & & 9| 9 | R¥ | 30| 3§ | YR 8T | ¥¥ | go
Tableof 93 | 93

Do you get the table of 93 ?
Canyoudevelop the table of 93 by using other numbers? Which are those numbers??




Some more sums\

9. In a garden there are 9 rows. In each row 9% rose plants are planted. How many total
rose plants are there?

R. Thereare RY oranges in a basket. How many oranges will come in such ¥ baskets ?
3. Atailorstiches 9% shirts in one day. How many shirts does he stitch in ¥ days?

You should try some more such problems and solve it in different ways. Try at least € & 4
processes for each problem.

How to solve?

Inprevious class you solved problems like 38 x 9, 9IRE x R

Now we will see 3R x9§

9 Whenever you multiply a number with some two digits number,
3R first you multiply ones number.
X 9% In this number ones digit is 6 therefore 3R X § = 9ER

9€R (3R X §) Nowtheseconddigit,9 tensi.e. 90 is multiplied by 3R
+3%0 (3% X 90) 3R X 90= 330 Now youadd both (9€R +30). The answer
%IR willbe ¥ 9IR.

There is one more process for multiplication

Wecanwriteit3R = 304+ R & 9§ =90 + §

Xl 0 ?
90| 30 X 90 R X 90 Now add all the four numbers.

300 R0 300 + 920 + R0 + 9} = —————-
& 30Xg | RXE

9To IR

Is the answer the same as it was in previous process?
Now solve the sums given below in both the processes :

9. 8L X R3 . € X<t 3. RO X R

8. YO X &E ?. 30X RE &. I X 88




Observe and understanoN

38§ X R¢ =7 otherprocessto solve it

16% 396 = 300 + B0+ § & ¢ =30 + &
X Yy X 300 8o &
—_— R0 300 X R0 o X Qo | § X Ro
9930 (333 X (i) §000 TOO 9Ro
+ §€0 (38§ X ) @ | 300X Y 8o X & | &§XY
9%00 Q00 30

T&Yo

Thus 38& X ¢ = §ooo + 9%¥00 + oo + Q00 + 90 + 30

Solve these\

Or 38% X Ry = kYo

9. ¥R X &Y R. 8&Y X 3¢ 3. W X 89
8. €9 X §§& ¢. Vg0 X 9¢ &. TO3 X 8Y
Problem Sums \

« There are &Y% students in a school. Each deposited Rs 9% for picnic. What is the total
amount deposited?
- Radhaisinneed of 9% copies. If each copy costs Rs. 9&. How much money does Radha
require?
« Inasmall box 9R ice cream cups can be kept. In a big box 9% times more icecream cups

can be kept. Answer how many icecreams can be kept in big box?

« A saree has R% different designs. Every design has 9% colours. A shopkeeper wants to

purchase one piece of each type of saree for his shop. How many sarees the shopkeeper
has to purchase for shop?

*  Onechaircosts Rs. ¥3&. What will be the cost of 3% chairs?

* Rameshwent tothe market with Rs. 3000, He purchased 9R sets of books at the rate of Rs.

99%. How much money is left with him?




.
< Division >

Remainder \
Can 93 sweets be divided equally among ¥ children.
" Youknow: )
8)% Here ¥ divisor
9 93 dividend
3 and 3 quotient

. J
This means that when 93 sweets were distributed equally among % children then

each child got 3 sweets and one sweet was left. Here remainder= 9.

Remainder = 9

Now solve the questions given below.

9. ¢+ % R. 3L+ § 3. ¥3+¢
8. 9)¥Rt ©. €£)3%¢3 &. 3)&Y%
O.c8 + ¥ . 8t + 9 . €9+ §

Write the divisor, dividend, quotient and remainder separately. Write the questions,

which have aremainder of ‘0’ in your copy and make a problem sum ofthese question. Two

problem sums are given here —

9. Y+ %

The teacher took out RY% books and distributed them equally among ¥ children. Tell

how many books each child would get and how many books would be left.

R. IELT

The cost of 3 chairsisRs & ¥ ¥. Then what is the cost of one chair?

Make questions and solve \

8T8+ ¥

THE COSTOT B SATEES « vt v e et e vvunnnesesseannnnnesssseensoneeessosessoseeesssassssoees




How to soIv&R

You have already done division in previous classes. Can you
tell 3V~ IR =
3
9) 30 Here 39X s to be divided by 9%.You can not distribute

-3& (R x = 3%)
9

- 9% Inthis way 3otens+'\9 Tens makes 3\9 tens.
o

3 hundreds into 9R parts. So convert 3 hundreds into tens

What will be the divisor of 39by 9% Letusread
IR X 9I=9R
IR X RI=1R%
IR X 3I= 3%
IR X 8 =Yg

8z, is greater than 3\9. So we read table of 9% only three
times and subtract 3& from 39. 9 tens will be remainder

which we convert into ones. In this way 90 + {= 9] Ones

Now dividing 9% by9R isequalto 9.

This can also be done in this way:

RO+ ¥+ & &Q&
93) 300 + VR RO+ Y%+ &=39 QL)QC L
- %0 (33 % 20) S
()

~ &o 9 X 5
00 @Q(Q )

-9 (9% X 6)

- OO0

1'.

Now solve these questions

9. Oneropeis 93 m long. If we cut the rope into pieces of 9% meter each. How many
pieces can be cut?

<. Onebox contains 99 bottles. Then how many bottles will be there in 9% boxes?




Multiplication & Division\

9. Ahalwai takes out 9% Jalebis at a time. How many Jalebis will he takes outin € times?

<. Abowl has R& Jamun. How many Jamuns will havein % such bowls?

3. Afisherman makes & nets ina month. So how many nets he will make in8 months.

8. One shop have different X% designs of caps. Each design has 9% colours. A

shopkeeper wants to buy cap of every design. How many number of caps he has to
buy.

%. &% students are there in Primary Government School Dongripali. Each student

deposit 98 rupees for picnic. Tell the total amount deposited.

&. A basket has R < berries. These berries has to divide among 9T people. How many

berries each people get?

. 9R girls of Primary Government School gets Rs. €00 in total, as the scholarship. Now

calculate how much amount each girl get?

T. From a pond, €0 fisherman collected 9R&© fishes. So how many fishes each

fisherman get?
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